Kansas Register

Vol. 43, No. 45

November 7, 2024

Pages 1551-1588

785-296-4564 https://www.sos.ks.gov

In this issue	Page	The Kansas Register is an official		
Legislative Branch		publication of the state of Kansas, published by authority of K.S.A.		
Legislative Administrative Services		75-430. The Kansas Register is pub-		
Interim Committee Schedule for November 4 – November 22, 2024		lished weekly and a cumulative index is published annually by the Kansas Secretary of State.		
Rates				
Pooled Money Investment Board Notice of Investment Rates November 4 – November 10, 2024		© Kansas Secretary of State 2024. Reproduction of the publication in its entirety or for commercial pur-		
Kansas Secretary of State Notice of Code Mortgage Rate for November 2024		poses is prohibited without prior permission. Official enactments of the Kansas Legislature and pro-		
Notices		posed and adopted administrative regulations of state agencies may		
Kansas Insurance Department Notice of Application Fee Amounts		be reproduced in any form without permission.		
Wichita State University		Current and back issues of the Kan-		
Notice of Intent to Lease Real Property	1554	sas Register (HTML and PDF Format)		
Notice of Intent to Lease Real Property	1554	can be found at https://www.sos.		
Kansas State Board of Regents Universities		ks.gov/publications/kansas-register. html.		
Notice to Bidders for University Purchase				
Kansas Department of Administration – Office of Procurement and Contra Notice to Bidders for State Purchase				
City of Lenexa, Kansas Notice to Bidders for Street Lighting Project – 96th Terrace (Lenexa Drive	1556			
to Monrovia Street) and Monrovia Street (96th Terrace to 99th Street) City of Wichita, Kansas	1556			
Notice to Bidders for West Street – I-235 to MacArthur Road	1557			
Kansas Department of Health and Environment	2007			
Notice of Application to Transfer Construction and Demolition Landfill Permit for CARDS LF, LLC				
Notice of Proposed Kansas Air Quality Construction Permit for				
Fully Cycle Waste Solutions, LLC – Pratt Pilot Plant Notice of Proposed Kansas Phase II Acid Rain Permit for				
Coffeyville Municipal Power Plant Notice of Proposed Kansas/Federal Water Pollution Control Permits		Register Office: 1st Floor, Memorial Hall		
and Applications		785-368-8095		
Johnson County Community College Request for Proposals for HVAC Improvements		kansasregister@ks.gov		
Kansas & Oklahoma Railroad Request for Proposals for Track Expansion Project in Maize, Kansas				
Viterra USA Grain Request for Proposals for Track Rehabilitation Project in Wichita, Kansas		THE STATE		
Bonds				
City of Harper, Kansas Notice of Intent to Seek Private Placement General Obligation Bonds				
Kansas Development Finance Authority Notice of Hearing on Proposed Agricultural Development Revenue Bonds				
Regulations				
Kansas State Board of Examiners in Optometry Notice of Hearing on Proposed Administrative Regulations		Published by Scott Schwab		
Kansas Lottery Temporary Administrative Regulations		Secretary of State 1st Floor, Memorial Hall		
Index to administrative regulations		120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564		

Cover Artwork: Wheat Ready to Harvest Photo by Todd Caywood

Kansas Register .

State of Kansas

Legislative Administrative Services

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

November 4 through November 22, 2024				
Date	Room	Time	Committee	Agenda
Nov. 7	Virtual	10:00 a.m.	State Finance Council	No Agenda Available
Nov. 13	582-N	10:00 a.m.	Joint Committee on Child Welfare Systems Oversight	No Agenda Available
Nov. 14	582-N	10:00 a.m.	Joint Committee on Child Welfare Systems Oversight	No Agenda Available
Nov. 18	546-S	9:00 a.m.	Special Committee on Centralized Pooled Collateral and PMIB Modernization	No Agenda Available
Nov. 18	546-S	8:30 a.m.	Special Committee on Foreign Trade and Regulatory Sandboxes	No Agenda Available
Nov. 18	582-N	9:00 a.m.	J. Russell (Russ) Jennings Joint Committee on Corrections and Juvenile Justice Oversight	No Agenda Available
Nov. 19	546-S	9:00 a.m.	Special Committee on Centralized Pooled Collateral and PMIB Modernization	No Agenda Available
Nov. 19	548-S	8:30 a.m.	Special Committee on Foreign Trade and Regulatory Sandboxes	No Agenda Available
Nov. 19	582-N	9:00 a.m.	J. Russell (Russ) Jennings Joint Committee on Corrections and Juvenile Justice Oversight	No Agenda Available
Nov. 20	144-S	9:00 a.m.	Joint Committee on Pensions, Investments and Benefits	No Agenda Available
Nov. 20	152-S	9:00 a.m.	Special Committee on Available and Affordable Housing	No Agenda Available
Nov. 20	548-S	8:00 a.m.	Build Kansas Advisory	No Agenda Available
Nov. 20	582-S	8:30 a.m.	J. Russell (Russ) Jennings Joint Committee on Corrections and Juvenile Justice Oversight	No Agenda Available
Nov. 21	112-N	8:00 a.m.	Health Care Stabilization Fund Oversight Committee	No Agenda Available
Nov. 21	144-S	9:00 a.m.	Joint Committee on Fiduciary Financial Institutions Oversight	No Agenda Available
Nov. 21	582-N	9:00 a.m.	Joint Committee on Information Technology	No Agenda Available

Tom Day Director Legislative Administrative Services

Doc. No. 052638

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective	11-4-24	through	11-10-24
T			D /

Rate
4.83%
4.51%
4.42%
4.29%
4.18%
4.08%

Joel Oliver Executive Director Chief Investment Officer Pooled Money Investment Board

Doc. No. 052628

State of Kansas

Secretary of State

Notice of Code Mortgage Rate for November 2024

Pursuant to the provisions of K.S.A. 16a-1-301, Section 11, the code mortgage rate during the period of November 1-30, 2024, is 12 percent. The reference rate referred to in the definition of "code mortgage rate" set forth in K.S.A. 16a-1-301(11)(b)(i) is discontinued, has become impractical to use, and/or is otherwise not readily ascertainable from the Federal Home Loan Mortgage Corporation.

Scott Schwab Secretary of State

Doc. No. 052629

State of Kansas

Insurance Department

Notice of Application Fee Amounts

Effective January 1, 2025, through December 31, 2025, application fees for resident agents, nonresident agents, and public adjusters are as follows:

Statute	Application Type	Application Fee Amount
K.S.A. 40-4905	Resident agent	\$15
K.S.A. 40-4906	Nonresident agent	\$50
K.S.A. 40-5505	Public Adjuster	\$100

Vicki Schmidt Insurance Commissioner

Doc. No. 052640

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease,

subject to all required state approvals, up to 1.22 acres of real property located on the northwest corner of the intersection of Fountain Avenue and 21st Street North, directly adjacent to the Wichita State University campus. This location would be designated for private development committed to supporting broadband infrastructure and Internet exchanges. The university is interested in leasing such ground to any individual, organization, or entity whose presence would advance WSU's vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. WSU intends to lease such space for a mutually agreeable period of time, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with WSU's educational mission and identify anticipated benefits to the university, its students, and the surrounding community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, community benefit commitments, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU and the surrounding community, design concepts, financial stability, and proposed use. Interested tenants will be responsible for all costs associated with the development and ongoing maintenance costs of any improvements. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of the improvement, and benefit to WSU. WSU will consider serious offers and inquiries from any financially qualified individual, group, organization. If interested, please contact Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 052352

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to four acres of real property located on the Wichita State University's campus designated as the "Innovation Campus," for the private development and operation of a partnership building or buildings. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. The university intends to lease such space for a mutually agreeable period of time up to sixty years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Interested tenants will be required to construct adjacent and adequate surface parking that will not be included in the leased ground. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of building improvement, and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization. If interested, please contact Senior Vice President for Industry and Defense Programs, Dr. John Tomblin at john.tomblin@wichita.edu or Property Manager Crystal Stegeman at crystal.stegeman@ wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance

Doc. No. 052353

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: https://www. emporia.edu/about-emporia-state-university/businessoffice/purchasing. Additional contact info: phone: 620-341-5137, email: purchaseorders@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Cir., Emporia, KS 66801.

Fort Hays State University – Electronic bid postings: http://www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785- 628-4251, email: purchasing@ fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https:// bidportal.ksu.edu. Effective August 1, 2023, all bids, quotes, or proposals must be submitted via the Kansas State University Bid Portal at https://bidportal.ksu.edu. Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. Additional contact information, phone: 785-532- 6214, email: kspurch@k-state.edu.

Pittsburg State University – Bid postings: https:// www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4167, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu/. The University of Kansas exclusively uses the online eBid tool and will no longer accept paper responses unless otherwise specified in a solicitation. Additional contact information, email: purchasing@ku.edu. Mailing address: University of Kansas, Procurement Department, 1246 W. Campus Road Room 20, Lawrence, KS 66045.

University of Kansas Medical Center – Electronic bid postings: https://www.kumc.edu/finance/supply-chain/ bid-opportunities.html. Additional contact information, phone: 913-588-1117, email: hunkemoore@kumc.edu. The University of Kansas Medical Center accepts only electronic bids.

Wichita State University – Bid postings: https://www. wichita.edu/services/purchasing/Bid_Documents/Bid Documents.php. Additional contact information, phone: 316-978-3080, fax: 316-978-3738, email: purchasing.office@ wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 38, Wichita, KS 67260-0038.

> Jim Hughes Director of Purchasing Pittsburg State University

Doc. No. 052485

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376.

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL.

11/27/2024	EVT0009977	Qualified Residential Treatment
11/00/0004		Programs
11/28/2024	EVT0009985	Employee Assistance Program (EAP)
10/02/2024	EV/T0000004	
12/03/2024	EVT0009984	Challenge Coins
12/04/2024	EVT0009989	V-Hull, Aluminum Work Boat
12/06/2024	EVT0009982	Optometry Services
12/11/2024	EVT0009981	Kansas Department of Commerce
		2026 World Cup Representative

The above referenced Bid Documents can be downloaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

https://admin.ks.gov/offices/procurement-contracts/ bidding--contracts/additional-bid-opportunities

11/21/2024	A-014771	Eisenhower Hall – Classroom
		Renovations
11/25/2024	A-014960	Colby District Office Building
11/26/2024	A-015174	New Construction; Kanopolis
		Visitor Center

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Todd Herman Director Office of Procurement and Contracts Department of Administration

Doc. No. 052639

(Published in the Kansas Register November 7, 2024.)

City of Lenexa, Kansas

Notice to Bidders

Sealed bids for 2024 CDBG Street Lighting Project–96th Terrace (Lenexa Drive to Monrovia Street) and Monrovia Street (96th Terrace to 99th Street) will be accepted until 10:00 a.m. (Central Time) December 10, 2024, by the City of Lenexa, Kansas at the Community Development Department, Lenexa City Hall, 17101 W. 87th St. Pkwy., Lenexa, KS 66219, at which time bids will be publicly opened and read aloud at the Lenexa City Hall. Any bid received after the designated closing time will not be considered and will be returned unopened.

All bids shall be submitted to the Community Development Department Customer Service Staff (Main Level) in sealed envelopes addressed to the City of Lenexa, Kansas, Attention: City Clerk, and marked "Bid for 2024 CDBG Street Lighting Project–96th Terrace (Lenexa Drive to Monrovia Street) and Monrovia Street (96th Terrace to 99th Street) Copies of plans, specifications, bidding documents and other contract documents are on file at Drexel Technologies, Inc., 10840 W. 86th St., Lenexa, KS 66214.

Bidders desiring contract documents for use in preparing bids may obtain a set of such documents at the address above. Plans and specifications may be downloaded from the Drexel Technologies, Inc. website at http:// planroom.drexeltech.com/. Note: Davis Bacon wage rates apply to this project. Each bidder will be responsible for ensuring that it has received any and all addenda issued by the city in accordance with IB-10 of the Instructions to Bidders.

Contractors should read and be fully familiar with all contract documents including addenda before submitting a bid. In submitting a bid, the bidder warrants that it has read the contract documents and is fully familiar therewith and that it has visited the site of the work to fully inform itself as to all existing conditions and limitations and shall include in its bid a sum to cover the cost of all items of the work as specified in the contract documents.

No oral telegraphic, telephonic proposals, or alterations will be considered. Facsimile transmissions will not be accepted.

The following items must be included in the sealed envelope with the bid:

- a. Bid form;
- b. 5% Bid security Bid bond, cashier's check, or certified check (see below); and
- c. Acknowledgment of addenda issued by the city.

Each bidder shall file with its bid a bid bond, a cashier's check, or a certified check drawn on an acceptable bank, made payable to the City of Lenexa, Kansas, in an amount equal to five percent (5%) of the total bid, which shall be retained by the City of Lenexa, Kansas until a contract for the project has been executed. Bid bonds will be returned to the bidders, with the exception of the best and lowest and second best and second lowest responsible bidders, within twenty-one (21) days after their bids are rejected. The bid deposit of the lowest and the second lowest responsible bidders will be returned when the performance bond, maintenance bond, and statutory bond, each in an amount equal to 100% of the contract amount. Required insurance certificates and other required documents shall have been furnished and the contract documents have been executed by the successful bidder.

In the event the low bidder is unable to execute the contract, for whatever reason, within the time provided in the Notice of Award, the city may annul the Notice of Award and the bid deposit may be forfeited and the city shall exercise its legal prerogatives, including, but not limited to, enforcement of its rights as to the bid security or specific performance.

The city reserves the right to accept or reject any and all bids and to waive any technicalities or irregularities therein. Bids may be modified or withdrawn by written request of the bidder received in the office of the city clerk, prior to the time and date for bid opening.

From and after the release of this notice, any party intending to bid on the above referenced project, including their officers, employees, agents, or contractors are specifically prohibited from communicating with any elected or appointed official of the city, directly or indirectly, with regard to the award of the contract for the project listed above, except as specifically authorized by the Instructions to Bidders. Any such unauthorized communication may result in the automatic disqualification of such bidder.

All bidders agree that rejection shall create no liability on the part of city because of such rejection, and the filing of any bid in response to this notice shall constitute an agreement of the bidder to these conditions.

A pre-bid conference will be held at 10:00 a.m. December 3, 2024, in the Lenexa City Hall, Santa Fe Conference Room, 17101 W. 87th St. Pkwy., Lenexa, KS 66219.

Jennifer Martin City Clerk City of Lenexa, Kansas

Doc. No. 052631

(Published in the Kansas Register November 7, 2024.)

City of Wichita, Kansas

Notice to Bidders

The City of Wichita, Kansas will receive bids until 10:00 a.m. Friday, December 13, 2024, at the City of Wichita Purchasing Office, 455 N. Main, 12th Floor, Wichita, Kansas, for the bidding of West Street, I-235 to MacArthur Road ((KDOT Project No. 87N-0719-01/472-2020-085682/40105921; KDOT/PAVING MUNIS Code E1008). Plans and specifications for this project will be available November 13, 2024. Electronic plan sheets for this project will only be available in the ARC Document Solutions plan room for the City of Wichita projects at https:// customer.e-arc.com/arcEOC/ARCPlanRoom.aspx. Other questions should be directed to James Wagner, P.E., Special Projects Engineer at 316-268-4505.

All bids received will thereafter be publicly opened, read aloud, and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the City Manager and according to plans and specifications on file in the office of the City Engineer. Bidders are required to enclose a bid bond in the amount of five percent (5%) with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Sarah Pineda at 316-268-4548 for extra sets of plans/specs.

Jody Doyle Administrative Aide II Engineering Department City of Wichita, Kansas

Doc. No. 052637

State of Kansas

Department of Health and Environment

Notice of Application

The Kansas Department of Health and Environment (KDHE) has received an application to transfer construction and demolition landfill Permit 776 from CNWA Properties, LLC to CARDS LF, LLC. The permit transfer affects a 3.3-acre disposal area on an approximately 70-acre landfill site. The landfill will be maintained and operated in conformance with state solid waste regulations and accept only construction and demolition waste as defined by Kansas Statutes and regulations. The landfill site is located at 1253 S. 190th St., Weir, Kansas, in the north half of the southeast quarter of Section 15 in Township 31 South, Range 24 East in Crawford County.

The Crawford County Commissioners have previously certified that the landfill is consistent with the county's solid waste management plan and local land use restrictions or zoning. KDHE has reviewed the application and found it to be in conformance with the state solid waste statutes and regulations.

La noticia anterior se refiere a la solicitud de transferencia del permiso 776 para el vertedero de construcción y demolición de CNWA Properties, LLC a CARDS LF, LLC en la 1253 S. 190th St., Weir, Kansas. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE al 785-296-5156 o en: KDHE. NonDiscrimination@ks.gov.

KDHE is today providing public notice of the intent to approve the proposed permit transfer. However, a final decision to approve the permit transfer has not been made, and KDHE will consider information gathered during the public comment period before making a final decision. A copy of the administrative record which includes the permit application, engineering drawings, draft permit, and other information with respect to this permit action will be available for public review and comment from November 7, 2024 through December 9, 2024, during normal business hours at the following locations:

Kansas Department of Health and Environment Bureau of Waste Management 100 SW Jackson, Suite 320 Topeka, KS 66612 Contact: Heather Merritt 785-296-5639

Pittsburg Public Library 308 N. Walnut St. Pittsburg, KS 66762 Contact: Reference Librarian 620-231-8110

Additionally, the permit application form with primary application information is available for public viewing at http://www.kdhe.ks.gov/676 and at the KDHE southeast district office at 308 West 14th St., Chanute, KS 66720. Anyone wishing to comment on the landfill's permit modification should submit written statements postmarked no later than December 9, 2024 to Heather Merritt 1000 SW Jackson, Suite 320, Topeka, KS 66612, or by email to heather.merritt@ks.gov. Mailed comments postmarked on or prior to December 9, 2024 and received within one week thereafter will also be considered.

After consideration of all written comments received during the public notice period, KDHE will make a final decision on whether to issue the permit. Notice of the decision will be given to the applicant, anyone who submitted written comments during the comment period, and those who requested notice of the final permit decision.

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 052636

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Construction Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality construction permit. Full Cycle Waste Solutions, LLC – Pratt Pilot Plant has applied for an air quality construction permit in accordance with the provisions of K.A.R. 28-19-300. Emissions (continued) of volatile organic compounds (VOC), particulate matter (PM), particulate matter with less than or equal to 10 microns in aerodynamic diameter (PM_{10}), particulate matter with less than or equal to 2.5 microns in aerodynamic diameter ($PM_{2.5}$), carbon monoxide (CO), oxides of nitrogen (NO_X), oxides of sulfur (SO_X), and hazardous air pollutants (HAPs) were evaluated during the permit review process.

Full Čycle Waste Solutions, LLC – Pratt Pilot Plant, 217 Walnut St., Pratt, KS 67124, owns and operates an industrial waste processing facility for the recovery of energy and marketable materials located at 217 Walnut St., Pratt, Pratt County, KS 67124, at which the industrial waste processing facility will transform solid waste into valuable resources and generate clean renewable energy. One (1) waste-to-energy pilot plant (WEP01), one (1) waste-to-energy pilot plant (WEP02), one (1) outdoor storage pile of industrial waste, one (1) conveyor drop point from the transport of material between two (2) conveyor belts, one (1) source of emissions from conveying material from the storage pile into the building will be contructed.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review from the date of publication during normal business hours at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Southwest District Office, 302 W. McArtor Rd., Dodge City, KS 67801-6098. To obtain or review the proposed permit and supporting documentation, contact Megan Heffernan at the central office of KDHE at 785-296-1992, or Ethel Evans at the Southwest District Office at 620-356-1075. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Megan Heffernan, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, December 9, 2024.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Megan Heffernan, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, December 9, 2024, in order for the Secretary of Health and Environment to consider the request.

The preceding notice refers to the air permit for Full Cycle Waste Solutions, LLC – Pratt Pilot Plant located at 217 Walnut St., Pratt, Pratt County, KS 67124. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to: KDHE. NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para Full Cycle Waste Solutions, LLC – Pratt Pilot Plant ubicado en 217 Walnut St., Pratt, Pratt County, KS 67124. Si desea obtener más información en Notices

español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a: KDHE.NonDiscrimination@ks.gov.]

Janet Stanek Secretary Department of Health and Environment Doc. No. 052634

State of Kansas

Department of Health and Environment

Notice of Proposed Kansas Phase II Acid Rain Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is proposing to issue a five-year permit to the Coffeyville Municipal Power Plant, 605 Sante Fe St., Coffeyville, Montgomery County, KS 67337, pursuant to Title IV (Acid Deposition Control) of the Federal Clean Air Act and implementing regulations found at 40 CFR Parts 72 through 78. The effective date of the permit is from January 1, 2025 through December 31, 2029.

One (1) utility boiler(s) affected by this permit action, identified as Unit 4 is located at the 605 Sante Fe St., Coffeyville, Montgomery County, KS 67337, operated by City of Coffeyville, PO Box 1629, Coffeyville, KS 67337, would receive Unit 4: 10 allowances (respectively,) for each year from 2025 through 2029. Each allowance authorizes the utility boiler to emit up to one ton of sulfur dioxide during or after each of the years specified above. Coffeyville Municipal Power Plant proposes to comply with the Acid Rain Program emission requirements by holding enough allowances to cover all sulfur dioxide emissions. Issuance of this permit would not affect the responsibility of Coffeyville Municipal Power Plant to meet all other existing local, state, and federal sulfur dioxide emission requirements.

The designated representative for Coffeyville Municipal Power Plant is Tony Lawson.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Southeast District Office, 308 W. 14th St., Chanute, KS 66720. To obtain or review the proposed permit and supporting documentation, contact Parker Robb at the central office of KDHE at 785-296-1947, or Ryan Jack at the Southeast District Office at 620-860-7235. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www. kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Parker Robb, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, December 9, 2024. A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Parker Robb, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, December 9, 2024, in order for the Secretary of Health and Environment to consider the request.

The preceding notice refers to the air permit for Coffeyville Municipal Power Plant located at 605 Sante Fe St., Coffeyville, Montgomery County, KS 67337. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to: KDHE. NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para Coffeyville Municipal Power Plant ubicado en 605 Sante Fe St., Coffeyville, Montgomery County, KS 67337. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a: KDHE.NonDiscrimination@ks.gov.]

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 052633

State of Kansas

Department of Health and Environment

Notice of Proposed Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Las acciones propuestas con respecto a los documentos preliminares se basan en la revisión del personal, aplicando los estándares, regulaciones y limitaciones de efluentes apropiados del estado de Kansas y de la Agencia de Protección Ambiental de Estados Unidos. La acción final resultará en la emisión de una Autorización Federal del Sistema Nacional de Eliminación de Descargas de Contaminantes y un permiso de Control de Contaminación del Agua de Kansas, sujeto a ciertas condiciones, revocación y reemisión del permiso designado o terminación del permiso designado. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación al 785-296-5156 o en: KDHE.NonDiscrimination@ks.gov.

Public Notice No. KS-Q-24-231

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Abilene, City of 601 NW 2nd St Abilene, KS 67410	Smoky Hill River via Mud Creek via Unnamed Tributary	Process Wastewater

Permit No. I-SH01-PO04

Federal Permit No. KS0091936

Legal Description: NW¼, Section 18, Township 13S, Range 2E, Dickinson County

Location: 38.92511, -97.25260

The proposed action consists re-issuance of a Kansas/NPDES Water Pollution Control Permit for the discharge of wastewater from the City of Abilene water treatment plant. The wastewater treatment facility consists of a two-cell lagoon system receiving concentrated from a reverse osmosis unit (approximately 200 gallons per minute average) and backwash (approximately 21 gallons per minute average) from pressure filters for iron and manganese removal. The permit contains a schedule of compliance to address a Total Phosphorus TMDL by requiring the facility to install a flow meter and conduct monitoring to establish an ability to create the TMDL. This permit contains limits for Toral Residual Chlorine, Total Suspended Solids, and pH. The permit contains monitoring for Nitrate, and Total Phosphorus.

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before December 7, 2024, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-Q-24-231) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Casey Guccione, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or ob-(continued) jections for all other proposed permits or actions should be sent to Andrew Bowman at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Jada Martin at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. Las preguntas o comentarios por escrito deben dirigirse a Erich Glave, Director, Bureau of Environmental Field Services en KDHE: 1000 SW Jackson St., Suite 430, Topeka, KS 66612-1367; por correo electrónico: kdhe.feedlots@ks.gov; por teléfono: 785-296-6432. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Jamie Packard, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-4148 or email at Jamie.Packard@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http://www.kdhe.ks.gov/livestock. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 052635

(Published in the Kansas Register November 7, 2024.)

Johnson County Community College

Request for Proposals

Johnson County Community College (JCCC) is accepting proposals for RFB 25-077 HVAC Improvements – CLB and LIB Buildings. Solicitation documents may be obtained via the College's eProcurement site and public bulletin board, ProcureWare, at https://jccc.procureware. com/home. Call 913-469-3812 or email procurement@ jccc.edu if you have questions or need assistance. Bids received through ProcureWare no later than 2:00 p.m. (Central Time) November 19, 2024 will be evaluated. Upon completion of evaluation ProcureWare will be updated with contract award information.

> Larry Allen Senior Buyer Campus Services Johnson County Community College

Doc. No. 052643

(Published in the Kansas Register November 7, 2024.)

Kansas & Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal to complete the below scope of work for the Kansas & Oklahoma (K&O) Railroad track expansion project at Project Sur in Maize, Kansas. Project is in Maize, Kansas on proposed track expansion coming off an existing main track just west of existing crossing at N. 119th St W. This proposal requests contractor provides all necessary labor, equipment, and logistical services for installation of all track including crossing panels, to complete all track construction work, ties, ballast, derails, etc. The scope is further described as follows:

- Contractor to plan for mobilization and demobilization under a lump sum amount. This includes all necessary equipment, trailers, storage, or other site needs for the duration of the project including items as required by local or state construction regulations.
- Construction surveying to include final as-built survey to be completed within 90 days of Final Project Execution.
- Supply, assemble, and install pricing for approximately 3037 track feet of 115# min jointed relay rail on new 7x9x8.6' wood crossties. Owner reserves the right to supply any or all track and aggregate materials without impact to other scope items.
- Supply, assemble, and install pricing for four each AREMA industrial turn out to be built using 115# rail, Sampson points, solid manganese self-guarded frog, wood ties, and OTM plates, spikes, anchors, bolt/washer/nut assemblies. Owner reserves the right to supply any or all track and aggregate materials without impact to other scope items.
- Road crossing and signage meeting local protection to maintain public safety required by state, local, and federal regulations. All track to be continuously welded through crossings.
- Supply and install pricing for 2920 tons of ballast, tamping, and regulating. Ballast to meet AREMA and DOT requirements for gradation and placement. Owner reserves the right to supply any or all track and aggregate materials without impact to other scope items.
- Supply and install two double switch point derails as shown in plans to allow for safe operating procedures between site and mainline operations.
- Site cleanup following completion of work is captured as a lump sum item. Any pre-existing rail, ties, or OTM that is removed when installing switch components, must be removed and disposed of according to all local, state, and federal regulations.
- Additional details concerning the scope of work needing to be done with each portion of the project, will be addressed at the pre-bid meeting.

Minimum Requirements

Roadway Worker Protection

Contractors must complete, and have on file, a current Master Services Agreement with owner prior to submitting a proposal.

• Contractors shall comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety at all times. Workers and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.

- Contractor, contractor employees, agents and/or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
- Any subcontracted work will need to be approved prior to any work starting.

Work Windows

Impact to current railroad and site operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with Watco/K&O Railroad. Contractor can anticipate a minimum work window of 8 hours with no more than two schedule of interruption in that time frame between the hours of 07:00 and 17:00. This topic will be further discussed and clarified during the pre-proposal meeting.

<u>Standards</u>

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval. All rail shall be replaced at standard gauge of 56-1/2".

Submittals

The following documents shall be submitted by the Contractor as part of the project–at the times listed:

Schedule of Work – Submitted with proposal.

- Certificate of Insurance Submitted prior to construction to meet all owner provided insurance guidelines.
- Contractor Job Safety Plan (Safety Checklist and Project Descriptions).
- Contractor Welding Certification Requirements (Acknowledgement).
- Proof of Roadway Worker Training Submitted prior to construction.
- Rail Testing (If AREMA #1 Relay Rail is Used) Submitted prior to construction.
- Rail Weld UT Test Requirements (All Rail Comp Welds) Submitted with billing.
- Performance and Payment Bond Submit prior to construction.

Other Responsibilities

- Permits Contractor is responsible for all local, state, and federal permits required for the work.
- Utilities Contractor is responsible to locate and protect site utilities as well as coordinate with utility companies for modifications.
- Site Clean-up Contractor is responsible for proper site restoration and proper disposal of materials removed in accordance with all local, state and federal laws.

Insurance

Contractor shall purchase coverage and submit for verification a Certificate of Insurance to meet all requirements demanded of the site, local, and state regulating agencies.

Materials

All non-owner supplied materials shall meet the re-

quirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 25' from the centerline of any active track at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials remain property of the K&O, to be stockpiled as directed by a Representative.

Non-Project Areas

Watco has secured access to the project through N. 119th St W. All areas (public, private, and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Pre-Proposal Meeting

Watco shall hold a pre-proposal meeting at the project site near Maize, Kansas at 9:00 a.m. November 22, 2024. Contractors are not required to be present at this meeting to submit a proposal.

Project Completion

In-service date for this project is expected to be May 1, 2025, subject to change after submittal of schedule with bid proposal. Proposed start date for consideration and access to site would be January 6, 2025. Contractor is to build schedule to meet this date and coordinate in service schedule. All work pertaining to this project shall be completed as indicated on the contractor supplied Schedule. Failure to complete work by the scheduled date may result in the contractor's removal from the property or charges of \$1500/day until completed to satisfaction.

Submission of a Proposal

All proposals must be submitted no later than December 10, 2024. All submitted proposals shall be reviewed by Watco Purchasing Department. Please ensure your proposal includes all required information. All incomplete or late proposals shall be rejected. Contractors who wish to submit a proposal are not required to attend the pre-proposal meeting. Proposals will be submitted to Ryan Reyes via email at Ryan.Reyes@watco.com. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- Provide a total sum of all Line Items on the proposal:
 Mobilization and Demobilization Lump sum.
 - Passive Crossing Signage Four each.
 - Wood Panel Crossings 48 LF.
 - Contractor Surveying Lump sum.
 - Track Supply 3037 TF.
 - Track Assemble and Install 3037 TF.
- Ballast Supply 2920 NT.
- Ballast Distribute 2920 NT.
- Tamp and Regulate Lump sum.
- Turnout Supply Four each.
- Turnout Assemble and Install Four each.
- Derail Supply Two each.

- Derail Assemble and Install Two each.
- Site Cleanup Lump sum.
- Performance and Payment Bond.

Work Reporting

Contractors will be required to complete right of entry forms and be railroad certified contractors prior to commencing work.

Daily work reports must be filled out and submitted to:

- Paul Leonards, Watco VP Construction
- Bryan Waldon, Senior Project Manager for Watco

Weekly reports should include updates to project schedules, any delays or any change in the scope of work. A detailed summary report must be submitted at the completion of the project. Daily reporting shall consist of daily progress reports in format to be provided at award.

For further information or questions regarding the Request for Proposals or submitting a proposal please send an email request to Paul Leonards, VP Construction, at pleonards@watco.com, phone 601-506-1800.

> Drew White Director of Engineering Watco

Doc. No. 052626

(Published in the Kansas Register November 7, 2024.)

Viterra USA Grain

Request for Proposals

Interested parties are invited to submit a proposal to complete the below scope of repairs for the proposed Viterra USA Grain – Wichita, Kansas–P#87 RA-9866-23 project.

Scope of Work

Provide all necessary labor, equipment, materials, and logistical services to supply materials called for. Complete all administrative, rehabilitation and track construction work, rail, switches, ties, ballast, tamping, and regulating required for the Viterra USA Grain – Wichita, Kansas track rehabilitation project. The scope is defined further as follows:

- Rail Upgrade–Elevator and Tail 1 Tracks:
 - Replace existing 90lb rail with 115lb rail:
 - All new rail joints are to be UT welded by certified welder(s).
 - Replace 1,880 damaged/rotted cross ties:
 - Dispose of all damaged/rotted cross ties.
 - Replace 1,880 cross ties with new 6"x8"x8'6" grade #3 or better cross ties.
 - *Any remaining new ties will be placed on Elevator 2 track.
 - Furnish labor, equipment, and materials to install new rail and cross ties.
 - Add 1,200 tons of clean 2" railroad ballast rock:
 - Tamp and regulate to proper height and cross-level.
 - Machine regulate and dress on accessible track. Hand regulate where not accessible by machine.

- Furnish labor, equipment, and materials to add 1,200 tons of ballast, tamp, and regulate.
- Tail 2 Track Rail Bed Rebuild.
- Furnish labor and equipment to do the following:
 - Remove joints at both ends of Tail 2.
 - Slide track over out of the way.
 - Remove existing ballast.
 - Cut grade 24" below top of rail.
 - Install 1,563' of geo grid.
 - Install 6" of compacted AB3.
 - Install 1,563' of soil fabric.
 - Slide track back into place, connect joints at both ends.
 - $\circ~$ Install new $1^{1}\!\!/\!\!2^{\prime\prime}$ clean ballast with 6" ballast below tie.
 - Line track.
 - Machine tamp and regulate track to proper elevation.
- Drainage System:
 - Replace culverts on Elevator 2:
 - Extend culverts through Elevator 1 track and out to ditch.
 - Install 10' manhole with drain pump capabilities on north end low spot area for Tail 3*:
 - Include proper dirt work to ensure standing water will flow towards manhole.

MSA and Roadway Worker Protection

Contractors must complete, and have on file, a current Master Service Agreement or Construction Agreement with Viterra USA Grain before the works begins.

- Contractor shall comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety at all times. Personnel and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
- Contractor shall wear required Personal Protective Equipment (PPE) at all times while on property. Minimum PPE includes hard hat, safety glasses (with side shields), Class III high visibility vest or clothing, leather gloves, and steel toed leather work boots.
- Contractor, contractor employees, agents, and/or subcontractors must be enrolled and comply with FRA 219 approved drug testing program.
- Any subcontracted work shall have written approval by the Viterra Wichita Project Manager prior to construction.
- Contractor is responsible for securing roadway worker protection (flagger protection) when working within 25 feet of adjacent Kansas & Oklahoma (K&O) Railroad mainline rail.

Work Windows

Impact to current railroad operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing the work that pertains to this project, the contractor must arrange a defined work window with Viterra USA Grain prior to commencing work. Contractor can anticipate a minimum eight hours with no more than one scheduled interruption in the work window between the hours of 07:00 and 17:00. This project will need to be completed by first half of April 2025 or mid-October 2025. Project can be broken up into two phases consisting of 2-week rail shutdowns each. *This topic will be further discussed and clarified at the pre-proposal meeting.*

Standards

All standards referenced by the project plans, scope of work, and specifications, as well as applicable AREMA standards much be upheld during all phases of the project. All rail shall be replaced with a standard gauge of 56-1/2".

Submittals

The following documents shall be submitted, at the time listed, by the contractor as part of the project:

- Schedule of work Submitted with proposal.
- Certificate of Insurance Submitted prior to construction.
- Safety Plan Submitted prior to construction.
- Proof of Roadway Worker Training Submitted prior to construction.
- Rail Testing (If AREMA #1 relay is used) Submitted prior to construction.
- Rail Weld UT Test Requirements (All Rail Comp Welds) Submitted with billing.

Other Responsibilities

- Permits Contractor is responsible for all federal, state, and local permits for the work.
- Utilities Contractor is responsible to locate and protect site utilities.
- Site Clean-up Contractor is responsible for proper site disposal of materials in accordance with local, state, and federal laws. Contractor is responsible for site restoration. Contractor is responsible for securing dumpster and hauling off used material. No old ties will be allowed to be stored on site in a pile.
- Right of Way Access Contractor is responsible for obtaining proper right of way entry prior to leaving Viterra USA Grain property and entering Watco Companies (K&O Railroad) property.
- KDOT Grant All requirements applicable to the contractor pursuant to the grant provided to Viterra USA Grain from the Kansas Department of Transportation in connection with the project.

Insurance

Contractor shall purchase required insurance coverage and submit verification of Certificate of Insurance prior to construction. Contractor shall address insurance requirements by Watco Companies (K&O Railroad) and submit proof to both Viterra USA Grain and Watco Companies.

Materials

All material shall meet or exceed the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted within the pre-determined and designated area located on Viterra USA Grain property. No materials shall be stored in the event that railroad tracks are fouled at any time. Material and equipment laydown areas shall be discussed and further clarified at the pre-proposal meeting. Contractor is responsible for furnishing all required materials to complete project.

Non-Project Areas

Viterra USA Grain has secured access to the project through the K&O Railroad. Other access may be obtained by the contractor if they so choose. All areas (public, private, and railroad right of way) that are used to access the project, including areas of the railroad right of way which have no proposed work, shall be maintained and/ or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if damage to those areas occur.

Project Completion

All work pertaining to this project shall be completed by October 17, 2025. Failure to complete the work by October 17, 2025, may result in the contractors' removal from the property or charges of \$2,500/day until completed to satisfaction.

Submission of Proposal

All proposals must be submitted no later than December 9, 2024. All submitted proposals shall be reviewed by Viterra USA Grain. Please ensure the submitted proposal includes all required information. Any incomplete proposal will be rejected. The structure of the proposal must be clearly understood and shall provide the following line items and provide cost as required below:

- Provide total sum of all line items on the proposal.
- Mobilization and Demobilization Lump sum.
- Labor Lump sum.
- Materials (Ballast, rail, turnouts, switches, OTM, ties, and other miscellaneous supplies.)
- Tamp and Regulate Lump sum.
- Performance Bond (Sum not less than amount of awarded contract) Lump sum.

Pre-Proposal Meeting

Viterra USA Grain shall hold a pre-proposal meeting at the project site at 9:00 a.m. (Central Time) Friday, November 22, 2024. The meeting shall be held at Viterra USA Grain – Wichita, Kansas, 5755 S. Hoover Rd., Wichita, KS 67215. Contractors are required to be present at this meeting to submit a proposal or their proposal can be rejected.

Work Reporting

Daily work reports must be filled out and submitted to designated Viterra USA Grain project manager. Weekly reports shall include updates to project schedules, any delays, or any change to the original scope of work. A detailed summary report shall be submitted at the completion of the project.

For further information or questions regarding the Request for Proposals or submitting a proposal, please email Carlos Bravo, Project Manager, at carlos.bravo@ viterra.com, phone 402-699-5731.

Carlos Bravo Project Manager Viterra USA Grain

Doc. No. 052627

(Published in the Kansas Register November 7, 2024.)

City of Harper, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2024

Notice is hereby given that the City of Harper, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$1,100,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated October 28, 2024.

Tiffany Hartson Clerk City of Harper, Kansas

Doc. No. 052641

State of Kansas

Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 9:00 a.m. Tuesday, November 26, 2024, in the offices of the Kansas Development Finance Authority (KDFA), 534 S. Kansas Ave., Suite 800, Topeka, Kansas, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

Project No. 001149 Maximum Principal Amount: \$119,850. Owner/Operator: Marcus H. Heinen; Description: Acquisition of 51 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Marcus H. Heinen (the "Beginning Farmer") and is located in the East Half of the Southwest Quarter of Section 4, Township 7, Range 14, Jackson County. Kansas, at the intersection of K-16 Highway and J Road.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

Interested individuals may participate in the public hearing in person or via conference call. Please call 844-621-3956 and use conference identification number 145 880 8929 followed by # to join the conference.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, KS 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

> Rebecca Floyd President Kansas Development Finance Authority

Doc. No. 052632

State of Kansas

Board of Examiners in Optometry

Notice of Hearing on Proposed Administrative Regulations

The Kansas State Board of Examiners in Optometry will conduct a public hearing at 8:00 a.m. Wednesday, January 8, 2025, in the Kansas State Capitol, Committee Room 218-N, 300 SW 10th Ave., Topeka, KS 66612, to consider the adoption of the proposed regulations K.A.R. 65-5-2 and 65-8-4 of the Kansas State Board of Examiners in Optometry on a permanent basis.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed regulations. All interested parties may submit written comments prior to the hearing by mailing them to the Kansas State Board of Examiners in Optometry, 3109 W. 6th St., Suite A, Lawrence, KS 66049 or by email to kssbeo@ks.gov. All interested parties will be given a reasonable opportunity to present their views orally regarding the adoption of the proposed regulations during the public hearing. In order to provide all parties an opportunity to present their views, it may be necessary to ask that each participant limit any oral presentation to an appropriate time frame.

Complete copies of the proposed regulations and economic impact statement may be found on the Board's website at https://kssbeo.ks.gov/ or by contacting Jan Murray, jan.murray@ks.gov.

Any individual with a disability may request an accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statement in an accessible format. Requests for accommodation to participate in the hearing should be made at least five (5) working days in advance of the hearing by contacting Jan Murray at 785-832-9986.

Summaries of the proposed regulations and their economic impacts are as follows:

K.A.R. 65-5-2 – Application for licensure by examination: K.A.R. 65-5-2 is an amended permanent regulation that updates application requirements.

Regulations

Economic Impact

The adoption of this regulation has no economic impact. There is no environmental impact.

K.A.R. 65-8-4 – Content of prescription: K.A.R. 65-8-4 is an amended permanent regulation that modernizes the regulation to meet current technology and terminology.

Economic Impact

The adoption of this regulation has no economic impact. There is no environmental impact.

> Jan Murray Executive Officer Board of Examiners in Optometry

Doc. No. 052630

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.-INSTANT GAMES AND DRAWINGS

111-4-3808. "\$150,000 Diamond 7" instant ticket lottery game number 425. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$150,000 Diamond 7." The rules for this game are contained in K.A.R. 111-3-1 *et seq*. and 111-4-3808.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV

36	THRSIX
Symbol of a 7	WIN
Symbol of a 77	DBL
Symbol of a diamond	WINALL
with a 7 in the middle	

Prize Symbols	Captions
FREE	TICKET
10.00	TEN\$
20.00	TWENTY
$40^{.00}$	FORTY
50.00	FIFTY
\$100	ONE-HUN
\$200	TWO-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$10000	10-THOU
\$150000	150-THOU

FAST \$50 SPOT:	Play Symbols	Captions
	Symbol of a gold bar	GLDBAR
	Symbol of a ring	RING
	Symbol of a vault	VAULT
	Symbol of a pot of gold	WIN\$50

FAST \$100 SPOT:	Play Symbols	Captions
	Symbol of a bracelet	BRCLET
	Symbol of a heart	HEART
	Symbol of a moneybag	MNYBAG
	Symbol of a stack of cash	WIN\$100

(c) For this game, a play/prize symbol shall appear in 54 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) "\$150,000 Diamond 7" is a symbol match game with an instant win, a multiplier feature and two bonus spot areas: Fast \$50 Spot and Fast \$100 Spot. The player will scratch the play area to reveal 26 symbols with a prize amount to the right of each symbol. If the player reveals a symbol of a 7, the player wins the prize shown to the right of that symbol. If a player reveals a symbol of a 77, the player wins double the prize shown to the right of that symbol. If a player reveals a symbol of a diamond with a 7 in the middle, the player wins all 26 prizes shown. The player will scratch the Fast \$50 Spot. If the player reveals a symbol of a pot of gold, the player instantly wins \$50. The player will scratch the Fast \$100 Spot. If the player reveals a symbol of a stack of cash, the player instantly wins \$100.

(g) Each ticket in this game may win up to 28 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Kansas Register

n 1	
K 0011	lations
Negu	auvus

	Fast \$50	Fast \$100	Prize	Winners Per 300,000	Prize Cost
\$20 Free Ticket			\$20	28,000	\$560,000
\$20			\$20	23,000	\$460,000
\$40			\$40	7,700	\$308,000
\$20 (2X)			\$40	8,300	\$332,000
\$20 x 2			\$40	7,700	\$308,000
\$50			\$50	8,700	\$435,000
	\$50		\$50	8,700	\$435,000
\$100			\$100	800	\$80,000
		\$100	\$100	400	\$40,000
\$50 (2X)			\$100	650	\$65,000
\$50	\$50		\$100	400	\$40,000
\$20 x 5			\$100	400	\$40,000
\$200			\$200	210	\$42,000
\$20 x 10			\$200	250	\$50,000
\$50 x 2		\$100	\$200	250	\$50,000
\$100 (2X)			\$200	300	\$60,000
\$500			\$500	80	\$40,000
(\$20 x 20) + (\$10 x 5) + \$50 (WIN ALL)			\$500	130	\$65,000
(\$40 x 2) + (\$10 x 17) + (\$20 x 5) + \$100 +					
\$50 (WIN ALL)			\$500	130	\$65,000
\$50 x 7	\$50	\$100	\$500	80	\$40,000
\$1,000			\$1,000	17	\$17,000
\$200 (2X) + (\$100 x 4) +					
\$50	\$50	\$100	\$1,000	15	\$15,000
(\$50 x 7) + (\$40 x 5) +					
(\$20 x 10) + \$50 (2X)	\$50	\$100	\$1,000	20	\$20,000
$(\$20 \times 15) + (\$40 \times 5) + (\$20 \times 2) + (\$100 \times 4)$					
(\$50 x 2) + (\$100 x 4) (WIN ALL)			\$1,000	50	\$50,000
\$10,000			\$10,000	3	\$30,000
$($20 \times 5) + $50 +$			φ10,000	0	400,000
$(\$100 \times 4) + (\$200 \times 4) +$					
(\$500 x 7) + (\$1,000 x 5)	\$50	\$100	\$10,000	4	\$40,000
\$500 x 20			\$10,000	3	\$30,000
\$150,000			\$150,000	4	\$600,000
Players Loyalty Program	L				\$42,970
			TOTAL	96,296	\$4,359,970

(j) The odds of winning a prize in this game are approximately one in 3.12. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-4-3809. "\$75,000 Jackpot" instant ticket lottery game number 426. (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$75,000 Jackpot." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3809.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions	BONUS	Play Symbols	Captions
Symbol of a wallet	WALLET		Symbol of a necklace	NKLACE
Symbol of a vault	VAULT		Symbol of a bell	BELL
Symbol of a treasure chest	TRCHST		Symbol of a pot of gold	POTGLD
Symbol of a coin	COIN		Symbol of a clover	CLOVER
Symbol of a stack of cash	STKCSH		Symbol of a horseshoe	HRSHOE
Symbol of a rainbow	RANBOW		Symbol of an apple	APPLE
Symbol of a star	STAR		Symbol of a crown	CROWN
Symbol of a heart	HEART		Symbol of a flower	FLOWER
Symbol of a purse	PURSE		Symbol of a lemon	LEMON
-				

Symbol of a piggy bank	PGYBNK
Symbol of a gold bar	GLDBAR
Symbol of a watch	WATCH
Symbol of the sun	SUN
Symbol of a ring	RING
Symbol of a melon	MELON
Symbol of a diamond	DIAMND
Symbol of a cherry	CHERRY
Symbol of a baseball cap	CAP
Symbol of a candle	CANDLE
Symbol of a bracelet	BRCLET
Symbol of a strawberry	STRBRY
Symbol of a vase	VASE
Symbol of a stool	STOOL
Symbol of dice	DICE
Symbol of a pineapple	PNAPLE
Symbol of the moon	MOON
Symbol of a key	KEY
Symbol of an umbrella	UMBRLA
Symbol of a watering can	WTRCAN
Symbol of a tree	TREE
Symbol of a scale of justice	SCALE
Symbol of a gold nugget	NUGGET
Symbol of a lantern	LANTRN
Symbol of an anchor	ANCHOR
Symbol of a planet	PLANET
Symbol of a camera	CAMERA
Symbol of a mug	MUG
Symbol of a lamp	LAMP WIN
Symbol of a moneybag	DBL
Symbol of a 2X	5TIMES
Symbol of a 5X	511MES
Prize Symbols	Captions
FREE	TICKET
10.00	TEN\$
15.00	FIFTEEN

20.00

25.00 50.00

 $75^{.00}$

\$100

\$500

\$2500

\$75000

TICKET
TEN\$
FIFTEEN
TWENTY
TWEN-FIV
FIFTY
SVTYFIV
ONE-HUN
FIVE-HUN
TWF-HUN
75-THOU

Vol. 43, No. 45, November 7, 2024

Kansas Register .

Symbol of \$10	WIN\$10
Symbol of \$20	WIN\$20
Symbol of \$50	WIN\$50

(c) For this game, a play/prize symbol shall appear in 53 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "\$75,000 Jackpot" is a symbol match game with an instant win, multiplier features and five bonus symbol match areas. The player will scratch the play area to reveal 24 symbols with a prize amount to the right of each symbol. If a player reveals a symbol of a moneybag, the player instantly wins the prize amount to the right of that symbol. If a player reveals a symbol of a 2X, the player wins double the prize amount shown to the right of that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown to the right of that symbol. The player will scratch the five bonus play areas; if the player reveals a symbol of a \$10, \$20 or \$50, the player wins that amount.

(g) Each ticket in this game may win up to 29 times.

(h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

this game shan be as follows:			
		Winners Per	1
	Prize	450,000	Prize Cost
\$10 Free Ticket	\$10	30,000	\$300,000
\$10	\$10	45,000	\$450,000
\$15	\$15	21,000	\$315,000
\$20	\$20	13,500	\$270,000
\$10 (2X)	\$20	7,500	\$150,000
\$10 + \$10	\$20	6,000	\$120,000
\$25	\$25	6,000	\$150,000
\$10 + \$15	\$25	6,000	\$150,000
\$50	\$50	2,250	\$112,500
\$10 (5X)	\$50	1,350	\$67,500
$(2X) + (10 \times 3)$	\$50	1,350	\$67,500
(\$15 x 2) + \$10 (2X)	\$50	1,350	\$67,500
\$10 x 5	\$50	1,050	\$52,500
\$75	\$75	480	\$36,000
\$15 (5X)	\$75	600	\$45,000
\$50 + \$25	\$75	360	\$27,000
\$25 (2X) + \$10 + \$15	\$75	600	\$45,000
\$15 + \$10 + \$10 (5X)	\$75	600	\$45,000
(\$10 x 4) + \$20 + \$15	\$75	480	\$36,000
\$100	\$100	240	\$24,000
\$50 (2X)	\$100	360	\$36,000
\$20 (2X) + \$10 (5X) + \$10	\$100	360	\$36,000
\$50 + \$10 (5X)	\$100	360	\$36,000
(\$10 x 3) + \$20 + \$50	\$100	240	\$24,000
\$500	\$500	39	\$19,500
$75(2X) + (10 \times 24) + (20 \times 3) + 50$	\$500	45	\$22,500
\$100 (5X)	\$500	45	\$22,500
$(\$50 \times 3) + (\$20 \times 10) + (\$25 \times 2) +$			
$(\$10 \times 5) + \$10 (5X)$	\$500	45	\$22,500

(\$50 x 3) + \$20 (5X) + \$100 (2X) +			
(\$10 x 5)	\$500	45	\$22,500
\$2,500	\$2,500	9	\$22,500
(\$500 x 2) + (\$100 x 12) + (\$25 x 4) -	+		
$(\$20 \times 4) + (\$10 \times 2) + \$100$	\$2,500	9	\$22,500
\$500 (5X)	\$2,500	9	\$22,500
\$75,000	\$75,000	4	\$300,000
Players Loyalty Program			\$38,500
	TOTAL	147,280	\$3,178,000

(j) The odds of winning a prize in this game are approximately one in 3.06. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-4-3810. "2025" instant ticket lottery game number 441. (a) The Kansas lottery may conduct an instant winner lottery game entitled "2025." The rules for this game are contained in K.A.R. 111-3-1 *et seq*. and 111-4-3810.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV

Kansas Register .

46	FRYSIX			<i>I</i>	Vinners Pe	r
	WIN		Bonus	Prize	420,000	Prize Cost
Symbol of a coin		Free Ticket		\$10	42,000	\$420,000
2X	2TIMES	\$15		\$15	26,000	\$390,000
5X	5TIMES	\$20		\$20	15,000	\$300,000
		\$10(2X)		\$20	15,000	\$300,000
Prize Symbols	Captions	\$25		\$25	3,400	\$85,000
FREE	TICKET		\$25	\$25	9,000	\$225,000
10.00	TEN\$	\$50		\$50	300	\$15,000
15.00	FIFTEEN	\$10(5X)		\$50	360	\$18,000
20 ^{.00}	TWENTY	\$25(2X)		\$50	360	\$18,000
-			\$25 + \$25	\$50	300	\$15,000
25.00	TWEN-FIV	\$10 + \$20(2X)	#05 + #05	\$50 ¢75	340	\$17,000 \$27,500
50.00	FIFTY	\$25 \$25(2X)	\$25 + \$25	\$75 \$75	500 500	\$37,500 \$27,500
75.00	SVTYFIV	\$25(2X) \$100	\$25	\$100	150	\$37,500 \$15,000
\$100	ONE-HUN	\$50(2X)		\$100 \$100	130	\$15,000
\$2025	TWTHO25	\$20(5X)		\$100 \$100	180	\$18,000
		\$10 x 10		\$100 \$100	150	\$15,000
BONUS Play Symbols	Captions	φιο x io	\$25 + \$25 +		100	\$10,000
Symbol of a stack of cash	WIN\$25		\$25 + \$25	\$100	150	\$15,000
Symbol of a heart	HEART	15 + 10 + 25(5X) +				
		\$25(2X)	\$25	\$225	80	\$18,000
Symbol of a flower	FLOWER	\$100(2X) + \$25		\$225	80	\$18,000
Symbol of a clover	CLOVER	20(5X) + 50(2X)	\$25	\$225	80	\$18,000
Symbol of a piggy bank	BANK	(\$10 x 15) + \$25	\$25 + \$25	\$225	80	\$18,000
Symbol of a star	STAR	\$2,025 \$25(5)() + (\$15 - 2) + \$20 +		\$2,025	150	\$303,750
Symbol of the moon	MOON	\$25(5X) + (\$15 x 2) + \$20 + (\$50 x 10) + (\$100 x 9) +	\$25 + \$25 +			
Symbol of a horseshoe	HRSHOE	$(100 \times 10) + (100 \times 9) + (10$	\$25 + \$25		150	\$303,750
Symbol of a diamond	DIAMND	(\$100(5X) x 2) +				
Symbol of a crown	CROWN	(\$50(5X) x 2) + (\$20(5X) x 2) + (\$25 x 10)	\$25 + \$25 + \$25	\$2,025	150	\$303,750
(c) For this game, a play/prize syn	nbol shall appear in	Players Loyalty Program		\$27,500		\$27,500
	1 1			momit		** ***

(c) For this game, a play/prize symbol shall appear in 64 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "2025" is a key number match game with an instant win, multiplier features and four bonus symbol match areas. The player will scratch the play area to reveal eight "WINNING NUMBERS" and 26 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUM-BERS." If a player matches any of the "YOUR NUM-BERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a coin, the player instantly wins the prize amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins two times the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol. The player will scratch the four bonus play areas; if the player reveals a symbol of a stack of cash, the player wins \$25.

(g) Each ticket in this game may win up to 30 times.

(h) Approximately 420,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 210,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

(j) The odds of winning a prize in this game are approximately one in 3.66. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

TOTAL 114,640

\$2,969,750

Article 9.-PULL-TAB GAMES

111-9-235. "That's Wild" pull tab ticket lottery game number 421. (a) The Kansas lottery may conduct a pull tab lottery game entitled "That's Wild." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-235.

(b) The play symbols for this game are as follows:

Symbol of a lion Symbol of a tree Symbol of a rhinoceros Symbol of a monkey Symbol of a pair of binoculars Symbol of an elephant Symbol of a leaf Symbol of a giraffe

(c) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a giraffe equal \$2.00; three symbols of a leaf equal \$5.00; three symbols of an elephant equal \$10.00; three symbols of a pair of bin-

oculars equal \$25.00; three symbols of a monkey equal \$50.00; three symbols of a rhinoceros equal \$100.00; three symbols of a tree equal \$250.00; three symbols of a lion equal \$2,500.00.

(d) The ticket numbers in each pack in this game shall start with 000 and end with 149.

(e) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in subsection (c) above. All winning combinations shall be within a single window in a horizontal line.

(g) Each ticket in the game may win up to eight times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this pull tab game. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows: (See corresponding play symbol values in subsection (c) above.)

	Prize Amount	Winners Per 1,800,000	Prize Cost
\$2	\$2	246,000	\$492,000
\$2 + \$2	\$4	85,200	\$340,800
\$5	\$5	78,000	\$390,000
\$5 + \$2	\$7	48,000	\$336,000
\$10	\$10	12,600	\$126,000
\$5 +\$5	\$10	12,600	\$126,000
\$25	\$25	3,000	\$75,000
\$5 + \$10 + \$10	\$25	3,168	\$79,200
\$5 + \$5 + \$5 + \$5 + \$5	\$25	3,600	\$90,000
2 + 2 + 2 + 2 + 2 + 2 + 5 + 10	\$25	3,600	\$90,000
5 + 5 + 5 + 5 + 5 + 5 + 10	\$35	1,380	\$48,300
\$5 + \$10 + \$10 + \$10	\$35	1,380	\$48,300
\$50	\$50	240	\$12,000
\$5 + \$5 + \$5 + \$5 + \$5 + \$5 +			
\$10 + \$10	\$50	240	\$12,000
\$100	\$100	120	\$12,000
\$250	\$250	36	\$9,000
\$2,500	\$2,500	12	\$30,000
Players Loyalty Program			\$23,400
TOTAL		499,176	\$2,340,000

(j) The overall odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-9-236. "Cash Tab" pull tab ticket lottery game number 419. (a) The Kansas lottery may conduct a pull tab lottery game entitled "Cash Tab." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-236.

(b) The play symbols for this game are as follows:

Symbol of a pyramid Symbol of an eagle Symbol of a dollar sign Symbol of a coin Symbol of a stack of cash Symbol of a moneybag

(c) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a moneybag equal \$1.00; three symbols of a stack of cash equal \$5.00; three symbols of a coin equal \$10.00; three symbols of a dollar sign equal \$25.00; three symbols of an eagle equal \$100.00; three symbols of a pyramid equal \$1,000.00.

(d) The ticket numbers in each pack in this game shall start with 000 and end with 299.

(e) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in subsection (c) above. All winning combinations shall be within a single window in a horizontal line.

(g) Each ticket in the game may win up to four times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this pull tab game. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows: (See corresponding play symbol values in subsection (c) above.)

	Prize Amount	Winners Per 1,800,000	Prize Cost
\$1	\$1	324,000	\$324,000
\$5	\$5	59,400	\$297,000
\$1 + \$5	\$6	28,440	\$170,640
\$10	\$10	9,600	\$96,000
\$5 + \$10	\$15	2,280	\$34,200
\$5 + \$5 + \$5	\$15	2,400	\$36,000
\$25	\$25	1,140	\$28,500
\$10 + \$10 + \$5	\$25	1,260	\$31,500
\$10 + \$25	\$35	540	\$18,900
\$10 + \$10 + \$10 + \$5	\$35	660	\$23,100
\$100	\$100	270	\$27,000
\$1,000	\$1,000	18	\$18,000
Players Loyalty Program			\$11,197
TOTAL		430,008	\$1,116,037

(j) The overall odds of winning a prize in this game are approximately one in 4.19. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-9-237. "Glow Party" pull tab ticket lottery game number 418. (a) The Kansas lottery may conduct a pull tab lottery game entitled "Glow Party." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-237.

(b) The play symbols for this game are as follows:

Symbol of a dollar sign Symbol of a music note Symbol of balloons

Symbol of a moneybag Symbol of a pair of glasses Symbol of a gift

(c) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a gift equal \$1.00; three symbols of a pair of glasses equal \$5.00; three symbols of a moneybag equal \$10.00; three symbols of a music note equal \$100.00; three symbols of a dollar sign equal \$1,000.00.

(d) The ticket numbers in each pack in this game shall start with 000 and end with 299.

(e) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in subsection (c) above. All winning combinations shall be within a single window in a horizontal line.

(g) Each ticket in the game may win up to four times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this pull tab game. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows: (See corresponding play symbol values in subsection (c) above.)

	Prize Amount	Winners Per 1,800,000	Prize Cost
\$1	\$1	324,000	\$324,000
\$5	\$5	59,400	\$297,000
\$1 + \$5	\$6	28,440	\$170,640
\$10	\$10	9,600	\$96,000
\$5 + \$10	\$15	2,280	\$34,200
\$5 + \$5 + \$5	\$15	2,400	\$36,000
\$25	\$25	1,140	\$28,500
\$10 + \$10 + \$5	\$25	1,260	\$31,500
\$10 + \$25	\$35	540	\$18,900
10 + 10 + 10 + 5	\$35	660	\$23,100
\$100	\$100	270	\$27,000
\$1,000	\$1,000	18	\$18,000
Players Loyalty Program			\$11,197
TOTAL		430,008	\$1,116,037

(j) The overall odds of winning a prize in this game are approximately one in 4.19. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

111-19-185. Holiday Spending Cash Drawing. (a) The Kansas lottery may conduct a drawing entitled "Holiday Spending Cash" awarding eight winners a cash prize of \$1,000 each. Entries into the drawing will be accepted beginning at 12:01 a.m. on October 14, 2024, and

ending at 11:59 p.m. on December 8, 2024. The drawing will be conducted sometime after entry into the drawing has closed but before noon on December 12, 2024, at which time the winners will be announced.

(b) Only registered Kansas Lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 200 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow but may only win once in this drawing.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.

(e) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed. The Kansas lottery is not responsible for electronic malfunction or player error.

(f) By entering the drawing, entrant agrees to PlayOn terms and conditions.

(g) Winners are responsible for state and federal taxes. (h) Rules applicable to this online event drawing are contained in K.A.R. 111-19-185 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing

K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-19-186. PlayOn to Vegas drawing. (a) The Kansas lottery may conduct a drawing entitled "PlayOn to Vegas" awarding a trip prize package to the two players selected as the winners. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 23, 2024, and ending at 11:59 p.m. on January 5, 2025. The drawing will be conducted sometime after entry into the drawing has closed but before noon on January 9, 2025, at which time the winners will be announced.

(b) Only registered Kansas lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.

(c) A total of 1,391 player loyalty points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow but may only win once in this drawing.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting the winners and alternate winners shall be followed.

(e) One drawing will be conducted to select two winners of a trip prize package to the Wynn Resort and Casino in Las Vegas, Nevada. Each trip prize package shall include:

(1) Round trip economy airfare for two persons on an airline approved by the Kansas lottery to and from Harry Reid International Airport and any of the following cities: Denver, Colorado; Wichita, Kansas; Manhattan, Kansas; or Kansas City, Missouri;

(2) Roundtrip airport transfers;

(3) Three nights' stay at the Wynn Resort and Casino (double occupancy room including taxes, resort fees and daily breakfast);

(4) Two tickets to a show of the winner's choosing;

(5) Two tickets to the Sphere Experience;

(6) Helicopter tour for two persons to the Grand Canyon from Las Vegas;

(7) \$2,000 cash; and

(8) State and federal mandatory income withholding taxes paid by the Kansas lottery.

(f) Each prize package is valued at approximately \$12,910.20.

(g) The procedures set forth in K.A.R. 111-18-5 for contacting the winners and the claiming of prizes shall be followed. The Kansas lottery is not responsible for electronic malfunction or player error.

(h) The winner must book all trip prize-related travel (hotel, air, excursions and any activity requiring a booking) within 90 days of being notified by the Kansas lottery that he or she has won a prize. Travel must be completed by the winner within one year from the date listed on the trip information package provided to the winner.

(i) By accepting any portion of the prize for which a ticket, voucher, certificate or pre-paid gift card is provided, winner must abide by any terms, conditions, and restrictions provided thereon. Lost, mutilated, or stolen tickets, vouchers, certificates, or pre-paid gift cards will not be replaced.

(j) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(k) In the event the trip prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(1) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize.

(m) By entering the drawing, entrant agrees to PlayOn terms and conditions.

(n) Rules applicable to this promotion are contained in K.A.R. 111-19-186 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-19-187. K-State Basketball Experiences drawing. (a) The Kansas lottery may conduct a drawing entitled "K-State Basketball Experiences" in which two Kansas lottery players will win season tickets to the 2024-25 Kansas State University men's basketball season at Bramlage Coliseum in Manhattan, Kansas. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 23, 2024, and ending at 11:59 p.m. on October 13, 2024. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 17, 2024, at which time the winners will be announced.

(b) Only registered Kansas lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 234 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow, but may win only one prize package.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.

(e) Each prize package shall consist of season tickets for two people in Section 3 and a parking pass for the 2024-25 Kansas State University men's basketball season, with each prize package valued at approximately \$1,339.44.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting the winners and the claiming of prizes shall be followed, except in this promotion the 10-business day deadline for the winners to return their claim forms shall be five business days. The Kansas lottery is not responsible for electronic malfunction or player error.

(g) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize. Winners shall comply with the terms and conditions associated with each portion of any prize, including all venue policies, and shall follow the directions of lottery staff and event security.

(h) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(i) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(j) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(k) State and federal mandatory withholding taxes will be paid by the Kansas lottery.

(Î) A player must have a smart phone to accept season tickets.

(m) Winners must provide an address suitable for shipping as needed for prize delivery.

(n) Rules applicable to this online event drawing are contained in K.A.R. 111-19-187 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-19-188. Kansas Basketball Experiences drawing. (a) The Kansas lottery may conduct a drawing entitled "Kansas Basketball Experiences" in which three Kansas lottery players will win season tickets to the 2024-25 Kansas University men's basketball season at Allen Fieldhouse in Lawrence, Kansas. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 23, 2024, and ending at 11:59 p.m. on October 13, 2024. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 17, 2024, at which time the winners will be announced.

(b) Only registered Kansas lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.

(c) A total of 691 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow, but may win only one prize package.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.

(e) The prize packages shall consist of the following:

(1) The Kansas lottery shall award the first two winners drawn season tickets for two people in Section E, Row (continued) 4, and a parking pass for the 2024-25 Kansas University men's basketball season. Each prize package is valued at approximately \$5,908.45;

(2) The next winner drawn will receive season tickets for two people in Section 14, Row 15, and a parking pass for the 2024-25 Kansas University men's basketball season. Each prize package is valued at approximately \$4,218.31.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting the winners and the claiming of prizes shall be followed, except in this promotion the 10-business day deadline for the winners to return their claim forms shall be five business days. The Kansas lottery is not responsible for electronic malfunction or player error.

(g) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize. Winners shall comply with the terms and conditions associated with each portion of any prize, including all venue policies, and shall follow the directions of lottery staff and event security.

(h) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(i) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(j) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(k) State and federal mandatory withholding taxes will be paid by the Kansas lottery.

(İ) A player must have a smart phone to accept season tickets.

(n) Rules applicable to this online event drawing are contained in K.A.R. 111-19-188 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-19-189. Acoustic Christmas at The Midland Theatre. (a) The Kansas lottery may conduct a drawing entitled "Acoustic Christmas at The Midland Theatre" in which 12 Kansas lottery players will win the prize packages described in paragraph (e) and (f). The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 30, 2024, and ending at 11:59 p.m. on October 27, 2024. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 31, 2024, at which time the winners will be announced.

(b) Only registered Kansas lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.

(c) A total of 213 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow but may only win once in this drawing.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.

(e) The first two entries selected shall be the winners of the "VIP Concert Package" and each winner shall receive:

(1) Two premium seating tickets to the "Acoustic Christmas" concert at The Midland Theatre in Kansas City, Missouri, on December 1, 2024;

(2) Participation in a social reception in the Chandelier Bar within the Midland Theatre with the artist performing that night;

(3) \$300 cash; and,

(4) State and Federal mandatory income withholding taxes will be paid by the Kansas lottery.

(f) The next 10 entries selected shall be the winners of the "GA Concert Package" and each winner shall receive:

(1) Two general admission tickets to the "Acoustic Christmas" concert at The Midland Theatre in Kansas City, Missouri, on December 1, 2024; and

(2) \$300 cash.

(g) Each concert package described in paragraph (e) is valued at approximately \$1,126.76. Each concert package described in paragraph (f) is valued at approximately \$360.00.

(h) The procedures set forth in K.A.R. 111-18-5 for contacting the winners and the claiming of prizes shall be followed. The Kansas lottery is not responsible for electronic malfunction of player error.

(i) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize. Winners shall comply with the terms and conditions associated with each portion of any prize, including all venue policies, and shall follow the directions of lottery staff and event security.

(j) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(k) The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(l) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(m) A player must have a smart phone to accept tickets.

(n) Rules applicable to this online event drawing are contained in K.A.R. 111-19-189 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-19-190. College Bowl. (a) The Kansas lottery may conduct either or both of two drawings entitled "College Bowl" awarding a prize package to one player selected as the winner in each drawing conducted. The Kansas lottery may accept entries into the drawings beginning at 12:01 a.m. on October 7, 2024, and ending at 11:59 p.m. on November 17, 2024. The drawings will be conducted sometime after entry into the drawings has closed but before noon on November 21, 2024, at which time the winners will be announced.

(b) Only registered Kansas Lottery PlayOn members may enter the drawings. PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 900 player loyalty points are required for a PlayOn member to enter once in either of the drawings. A player may enter one or both of the drawings as many times as his or her points allow. A player shall select either the Kansas State University drawing described in paragraph (e)(1), if offered by the lottery, or the Kansas University drawing described in paragraph (e)(2), if offered by the lottery, each time they enter. A player winning one drawing will not be disqualified from winning the other drawing.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting the winners and alternate winners shall be followed for each drawing.

(e) The lottery may conduct one drawing to select one winner for each prize package as follows:

(1) If Kansas State University is selected to play in a 2024-25 college football postseason bowl game, the winner of this drawing shall receive:

(A) Two tickets for the bowl game;

(B) Round trip coach airfare on an airline approved by the Kansas lottery that is departing from Wichita, Kansas; Manhattan, Kansas; Kansas City, Missouri; or Denver, Colorado;

(C) \$250 Uber gift card;

(D) Three nights' hotel accommodations, double occupancy, room and tax only;

(E) Invitation to a tailgate event endorsed by Kansas State University;

(F) Two Kansas State University football jerseys; and

(G) \$1,000 VISA gift card.

If Kansas State University is not selected to play in a bowl game, the winner of this drawing shall instead receive \$2,000 cash.

(2) If Kansas University is selected to play in a 2024-25 college football postseason bowl game, the winner of this drawing shall receive:

(A) Two tickets for the bowl game;

(B) Round trip coach airfare on an airline approved by the Kansas lottery that is departing from Wichita, Kansas; Manhattan, Kansas; Kansas City, Missouri; or Denver, Colorado;

(C) \$250 Uber gift card;

(D) Three nights' hotel accommodations, double occupancy, room and tax only;

(E) Invitation to a tailgate event endorsed by Kansas University;

(F) Two Kansas University football jerseys; and

(G) \$1,000 VISA gift card.

If Kansas University is not selected to play in a bowl game, the winner of this drawing shall instead receive \$2,000 cash.

(f) State and federal mandatory income withholding taxes shall be paid by the Kansas lottery based on the final value of the prize package in each drawing. If the university is not selected to play in a bowl game, the winner is responsible for state and federal taxes on the cash prize.

(g) The maximum estimated value of each prize package is approximately \$8,000.

(h) The procedures set forth in K.A.R. 111-18-5 for contacting the winners and the claiming of the prize shall be followed. The Kansas lottery is not responsible for electronic malfunction or player error.

(i) By accepting any portion of the prize for which a ticket, voucher, certificate or pre-paid gift card is provided, the winner must abide by any terms, conditions, and restrictions provided thereon. Lost, mutilated, or stolen

tickets, vouchers, certificates, or pre-paid gift cards will not be replaced.

(j) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(k) In the event the trip prize package awarded for either drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(l) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize.

(m) By entering the drawing, entrant agrees to PlayOn terms and conditions.

(n) Rules applicable to this promotion are contained in K.A.R. 111-19-190 and K.A.R. 111-18-1 *et seq*. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-19-191. Champions Classic Experience drawing. (a) The Kansas lottery may conduct a drawing entitled "Champions Classic Experience" awarding a trip prize package to the player selected as the winner. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 23, 2024, and ending at 11:59 p.m. on October 6, 2024. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 10, 2024, at which time the winner will be announced.

(b) Only registered Kansas Lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 844 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting the winner and alternate winners shall be followed.

(e) One drawing will be conducted to select a winner of a trip prize package for two persons to the Champions Classic collegiate basketball tournament at the State Farm Arena in Atlanta, Georgia, from November 10 through November 13, 2024. The trip prize package shall include:

(1) Round trip coach airfare from an airport and on an airline approved by the Kansas lottery to Atlanta, Georgia;

(2) Three nights' hotel accommodations (double occupancy, room and tax only);

(3) Two tickets to the Champions Classic on November 12, 2024, and access to a VIP dinner;

(4) \$250 Uber gift card;

(5) Two jerseys;

(6) \$1,000 VIŠA gift card; and

(7) State and federal mandatory income withholding taxes paid by the Kansas lottery.

(f) The prize package is valued at approximately \$7,436.62.

(g) The procedures set forth in K.A.R. 111-18-5 for contacting the winner and the claiming of the prize shall be followed.

(h) The winner must travel by air on November 10, 2024, and November 13, 2024, or provide his or her own transportation to and/or from Atlanta.

(i) All winners and guests must comply with all applicable laws, and any terms, conditions, or restrictions applicable to any prize or portion of any prize, including but not limited to: airlines, hotels, concert or event venues, and all vouchers, certificates, or pre-paid gift cards. Lost, mutilated, or stolen tickets, vouchers, certificates, or pre-paid gift cards will not be replaced.

(j) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alte approximate equal value.

(k) In the event the trip prize package aw drawing is postponed, changed, or cancel in part, no cash prize substitutions shall be

(1) All winners and guests shall release lottery from any liability for injuries susta deeming any portion of the prize.

(m) A player must have a smart phone to accept game tickets.

(n) By entering the drawing, entrant agrees to PlayOn terms and conditions.

(o) Rules applicable to this promotion are contained in K.A.R. 111-19-191 and K.A.R. 111-18-1 et seq. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

Article 21.—SPECIFIC FAST PLAY GAME RULES

111-21-11. "Baking Spirits Bright" fast play instant ticket lottery game number 860. (a) The Kansas lottery may conduct a fast play lottery game entitled "Baking Spirits Bright." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-11.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Captions

Play Symbols

	400
ernate prize of	\$100
warded for this	\$500
led in whole or	\$1,500
e provided.	(c) For this game, a play
ise the Kansas	17 play spots within the pla
ained while re-	(d) The ticket numbers i
to accort como	game shall start with 000 a

(e) The price of fast play tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Baking Spirits Bright" is a key number match game with instant wins and a multiplier area. The fast play ticket will reveal in the play area four "WINNING NUMBERS" and six "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If the ticket reveals a symbol of a 2X in the "Cookie Recipe" multiplier area, the player doubles any prize won.

(g) Each ticket in this game may win up to six times.

(h) Approximately 960,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this

., .,	0	game shall be as foll	01401				
3	THREE	game shan be as for					
6	SIX		"Cookie Recipe"	Prize	Winners Pe 960,000	r Prize Cost	
7	SEVEN	\$1	neerpe	\$1	144,000	\$144,000	
8	EIGHT	\$1	2X	\$2	28,800	\$57,600	
9	NINE	\$1 x 2		\$2	28,800	\$57,600	
11	ELEVN	\$2		\$2	28,800	\$57,600	
12	TWLV	\$1 x 4		\$4	9,600	\$38,400	
13	THRTN	\$2 x 2		\$4	9,600	\$38,400	
14	FORTN	\$2	2X	\$4	9,600	\$38,400	
15	FIFTN	\$4		\$4	9,600	\$38,400	
16	SIXTN	(\$1 x 3) + \$2		\$5	1,920	\$9,600	
17	SVNTN	$(\$2 \times 2) + \1		\$5	1,920	\$9,600	
18	EGHTN	\$5	2)(\$5	1,920	\$9,600	
		$(\$1 \times 3) + \2	2X	\$10	480	\$4,800 \$4,800	
19	NINTN	(\$2 x 2) + \$1	2X	\$10 ¢10	480	\$4,800 \$4,800	
21	TWYONE	\$5 \$10	2X	\$10 ¢10	480 480	\$4,800 \$4,800	
22	TWYTWO	\$10 \$5 x 4		\$10 \$20	480 240	\$4,800 \$4,800	
23	TWYTHR	$(\$4 \times 2) + (\$1 \times 2)$	2X	\$20 \$20	240 240	\$4,800 \$4,800	
24	TWYFOR	$(0 + \chi^2) + (0 + \chi^2)$ \$5 x 2	2X 2X	\$20	240 240	\$ 4 ,800	
25	TWYFIV	\$10	2X 2X	\$20	240 240	\$ 4 ,800	
26	TWYSIX	\$20	2/(\$20	240 240	\$ 4 ,800	
1X	NOMULT	$(\$4 \times 3) + \$10 + \$2 + \1	2X	\$50	80	\$4,000	

2X	2TIMES		
Prize Symbols	Captions		
\$1 ^{.00}	ONE DOL		
\$2 ^{.00}	TWO DOL		
\$4 ^{.00}	FOR DOL		
\$5 ^{.00}	FIV DOL		
\$10 ^{.00}	TEN DOL		
\$20 ^{.00}	TWENTY		
\$50 ^{.00}	FIFTY		
\$100	ONE HUN		
\$500	FIV HUN		
\$1,500	FIFTNHUN		

/prize symbol shall appear in lay area or areas.

in each book of tickets in this and end with 999.

(\$5 x 3) + \$10	2X	\$50	80	\$4,000
(\$10 x 2) + (\$2 x 2) + \$1	2X	\$50	40	\$2,000
\$20 + \$5	2X	\$50	40	\$2,000
\$50		\$50	40	\$2,000
(\$10 x 4) + (\$5 x 2)	2X	\$100	20	\$2,000
(\$20 x 2) + (\$4 x 2) +				
(\$1 x 2)	2X	\$100	20	\$2,000
\$50	2X	\$100	16	\$1,600
\$100		\$100	16	\$1,600
(\$100 x 4) + (\$50 x 2)		\$500	8	\$4,000
\$500		\$500	8	\$4,000
\$1,500		\$1,500	12	\$18,000
Player Loyalty Program				\$5,896
Total:			278,060	\$595,496

(j) The odds of winning a prize in this game are approximately one in 3.45. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-21-12. "Winter Cheer" fast play instant ticket lottery game number 861. (a) The Kansas lottery may conduct a fast play lottery game entitled "Winter Cheer." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-12.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a Christmas tree	TREE
Symbol of a Santa hat	HAT
Symbol of a gingerbread man	GNGRBREAD
Symbol of a present	PRESENT
Symbol of a snowflake	SNWFLK
Symbol of a poinsettia	POINSETTIA
Symbol of a penguin	PENGUIN
Symbol of a star	STAR
Symbol of a trumpet	TRUMPET
Symbol of a scarf	SCARF
Symbol of a snow globe	SNOW GLOBE
Symbol of an owl	OWL
Symbol of a brownie	BROWNIE
Symbol of an ice skate	SKATE
Symbol of a gingerbread house	GBREAD HOUSE
Symbol of an ornament	ORNAMENT
Symbol of a bow	BOW
Symbol of cookies	COOKIES
Symbol of a fireplace	FIREPLACE
Symbol of a candy cane	CNDYCN
Prize Symbols	Captions
\$2 ^{.00}	TWO DOL
$$4^{.00}$	FOR DOL
\$5.00	FIV DOL
\$10.00	TEN DOL
\$20 ^{.00}	TWENTY
\$40.00	FORTY
\$100	ONE HUN
\$500	FIV HUN
\$2,500	TWYFIVHUN

(c) For this game, a play/prize symbol shall appear in 17 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Winter Cheer" is a symbol match game with instant wins and a multiplier feature. The fast play ticket will reveal in the play area five "WINNING SYMBOLS" and six "YOUR SYMBOLS" with a prize amount below each of the "YOUR SYMBOLS." If a player matches any of the "YOUR SYMBOLS" to any of the "WINNING SYMBOLS," the player wins the prize shown below that symbol. If the ticket reveals a symbol of a candy cane, the player wins double the prize shown below that symbol.

(g) Each ticket in this game may win up to five times.

(h) Approximately 960,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

	V	Winners Per	r
	Prize	960,000	Prize Cost
\$2	\$2	107,520	\$215,040
\$2 w/ CANDY CANE	\$4	48,000	\$192,000
\$4	\$4	38,400	\$153,600
\$5	\$5	48,000	\$240,000
\$2 x 5	\$10	1,920	\$19,200
\$5 w/ CANDY CANE	\$10	8,640	\$86,400
\$10	\$10	8,640	\$86,400
\$4 x 5	\$20	480	\$9,600
\$5 x 4	\$20	480	\$9,600
\$10 w/ CANDY CANE	\$20	480	\$9,600
(\$5 x 2) + \$10	\$20	480	\$9,600
\$20	\$20	480	\$9,600
\$10 x 4	\$40	400	\$16,000
\$20 w/ CANDY CANE	\$40	400	\$16,000
(\$10 x 3) + (\$5 x 2)	\$40	400	\$16,000
\$40	\$40	400	\$16,000
\$20 x 5	\$100	96	\$9,600
(\$10 w/ CANDY CANE) +			
(\$20 w/ CANDY CANE) + \$40	\$100	96	\$9,600
\$100	\$100	96	\$9,600
\$100 x 5	\$500	12	\$6,000
\$500	\$500	8	\$4,000
\$2,500	\$2,500	24	\$60,000
Player Loyalty Program			\$12,034.40
Total:		265,452	\$1,215,474.40

(j) The odds of winning a prize in this game are approximately one in 3.62. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-21-13. "Jack Frost Jackpot" fast play instant ticket lottery game number 862. (a) The Kansas lottery may conduct a fast play lottery game entitled "Jack Frost Jackpot." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-13.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Captions

BELL

STOCKING

Play Symbols Symbol of a bell Symbol of a stocking Symbol of a drum Symbol of a lantern Symbol of a snowflake Symbol of a pair of skis Symbol of a candy cane Symbol of a gingerbread cookie Symbol of a Santa hat Symbol of Christmas lights Symbol of a snow globe Symbol of a mitten Symbol of an ornament Symbol of a nutcracker Symbol of a wreath Symbol of a sled Symbol of a Christmas tree Symbol of a jingle bell Symbol of holly Symbol of a bag of toys Symbol of a reindeer head Symbol of an igloo Symbol of a fire Symbol of a gift Symbol of a calendar page Symbol of a sweater Symbol of a snowman Symbol of a scarf Symbol of a cabin Symbol of a cup of cocoa Symbol of a candle Symbol of a French horn Symbol of an ice skate Symbol of a goblet Symbol of an icicle

Prize Symbols

 $$5^{.00}$

 $$10^{.00}$

\$15.00

\$20.00

 $$40^{.00}$

\$50.00

\$100

\$400

\$500

\$1,000

\$5,000 \$25,000

DRUM LANTERN **SNOWFLAKE** SKIS **CNDYCANE** COOKIE HAT LIGHTS SNOWGLOBE MITTEN ORNMENT NUTCRKR WREATH SLED TREE JINGLE HOLLY TOYS DEER IGLOO FIRE GIFT CALNDR SWEATER **SNOWMAN** SCARF CABIN COCOA CANDLE HORN SKATE GOBLET ICICLE Captions FIV DOL TEN DOL FIFTEEN TWENTY FORTY FIFTY ONE HUN FOR HUN FIV HUN ONE THO FIV THO

The fast play ticket will reveal in the play area five "WIN-NING SYMBOLS" and eight "ROWS" with three "YOUR SYMBOLS" and a prize amount in each row. Each row plays separately. If a player matches all three "YOUR SYMBOLS" to any of the "WINNING SYMBOLS," the player wins the prize shown for that "ROW."

(g) Each ticket in this game may win up to eight times. (h) Approximately 600,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

	D!	Winners Per	
A-	Prize	600,000	Prize Cost
\$5	\$5	117,000	\$585,000
\$5 x 2	\$10	9,000	\$90,000
\$10	\$10	9,000	\$90,000
\$5 x 3	\$15	3,000	\$45,000
\$10 + \$5	\$15	3,000	\$45,000
\$15	\$15	3,000	\$45,000
\$10 x 2	\$20	600	\$12,000
\$15 + \$5	\$20	600	\$12,000
(\$5 x 2) + \$10	\$20	600	\$12,000
\$20	\$20	600	\$12,000
\$20 x 2	\$40	2,400	\$96,000
(\$5 x 2) + \$20 + \$10	\$40	2,400	\$96,000
(\$10 x 3) + (\$5 x 2)	\$40	2,400	\$96,000
\$40	\$40	2,400	\$96,000
\$40 + \$10	\$50	1,800	\$90,000
(\$5 x 3) + \$20 + \$15	\$50	1,800	\$90,000
(\$10 x 2) + (\$5 x 3) + \$15	\$50	1,800	\$90,000
(\$20 x 2) + \$10	\$50	1,600	\$80,000
\$50	\$50	1,600	\$80,000
\$50 x 2	\$100	350	\$35,000
(\$15 x 4) + (\$10 x 2) + \$20	\$100	350	\$35,000
(\$5 x 2) + (\$15 x 6)	\$100	300	\$30,000
\$100	\$100	300	\$30,000
(\$100 x 3) + \$50 + \$40 + \$10	\$400	32	\$12,800
(\$100 x 3) + (\$15 x 2) + \$50 + \$20	\$400	32	\$12,800
(\$100 x 3) + (\$50 x 2)	\$400	32	\$12,800
\$400	\$400	28	\$11,200
\$400 + \$100	\$500	4	\$2,000
(\$50 x 2) + \$400	\$500	4	\$2,000
(\$50 x 6) + (\$100 x 2)	\$500	4	\$2,000
\$500	\$500	4	\$2,000
\$500 + \$400 + \$100	\$1,000	6	\$6,000
\$500 x 2	\$1,000	6	\$6,000
(\$50 x 2) + \$500 + \$400	\$1,000	6	\$6,000
\$1,000	\$1,000	6	\$6,000
\$5,000	\$5,000	4	\$20,000
\$25,000	\$25,000	4	\$100,000
Player Loyalty Program	. ,		\$20,936
Total:		166,072	\$2,114,536
		-	

(c) For this game, a play/prize symbol shall appear in 37 play spots within the play area or areas.

TWYFIVTHO

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Jack Frost Jackpot" is a key symbol match game.

(j) The odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-21-14. "\$20, \$50 & \$100 Winter Blowout" fast play instant ticket lottery game number 863. (a) The Kansas lottery may conduct a fast play lottery game entitled "\$20, \$50 & \$100 Winter Blowout." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-14.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSVN
28	TWYEGT
29	TWYNIN
30	THIRT
31	THYONE
32	THYTWO
33	THYTHR
34	THYFOR
35	THYFIV
36	THYSIX
37	THYSVN
38	THYEGT
39	THYNIN
40	FORT

Multiplier Symbol

Symbol of a cloud

Prize Symbols	Captions
\$10 ^{.00}	TEN DOL
\$20 ^{.00}	TWENTY
\$50 ^{.00}	FIFTY
\$100	ONE HUN

(c) For this game, a play/prize symbol shall appear in 38 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$10.00 each.

(f) "\$20, \$50 & \$100 Winter Blowout" is a key number match game with a multiplier feature. The fast play ticket will reveal in the play area six "WINNING NUMBERS" and 16 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If the player's winning "YOUR NUMBER" is inside a cloud, the player wins double the prize amount shown below that number.

(g) Each ticket in this game may win up to five times.

(h) Approximately 480,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

	I	Winners Pe	r
	Prize	480,000	Prize Cost
\$10 x 2	\$20	7,200	\$144,000
\$10 w/ CLOUD	\$20	7,200	\$144,000
\$20	\$20	7,200	\$144,000
\$10 x 5	\$50	5,000	\$250,000
(\$10 x 3) + \$20	\$50	4,000	\$200,000
(\$20 x 2) + \$10	\$50	4,000	\$200,000
(\$10 w/ CLOUD) + \$20 + \$10	\$50	5,000	\$250,000
((\$10 w/ CLOUD) x 2) + \$10	\$50	5,000	\$250,000
(\$20 w/ CLOUD) + \$10	\$50	5,000	\$250,000
\$50	\$50	3,000	\$150,000
\$20 x 5	\$100	1,600	\$160,000
\$50 x 2	\$100	1,600	\$160,000
(\$10 w/ CLOUD) + (\$20 x 4)	\$100	2,000	\$200,000
((\$10 w/ CLOUD) x 4) + \$20	\$100	2,000	\$200,000
(\$20 w/ CLOUD) + (\$20 x 3)	\$100	2,000	\$200,000
((\$20 w/ CLOUD) x 2) + \$20	\$100	2,000	\$200,000
\$50 w/ CLOUD	\$100	2,000	\$200,000
\$100	\$100	1,200	\$120,000
Player Loyalty Program			\$34,220
Total:		67,000	\$3,456,220

(j) The odds of winning a prize in this game are approximately one in 7.16. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

Article 23.— SPECIFIC eINSTANTS RULES

111-23-5. "Temple Treasures" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Temple Treasures." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-5.

(b) The "play symbols" for this game are as follows:

Play Symbols Symbol of a Treasure Chest Symbol of a Statue Symbol of a Coin Symbol of a Crown

(continued)

1577

Symbol of a Goblet Symbol of a Skull Symbol of a Ring

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (i).

(c) For this game, five play or prize symbols shall appear in each of the ticket play areas purchased by the player. There shall be four ticket areas. Each ticket area shall be dim until the player elects to purchase that ticket.

(d) Each pool shall consist of 1,000,000 tickets.

(e) The price of tickets for this game shall be \$1.00, \$2.00, \$5.00 and \$7.50.

(f) "Temple Treasures" is a multi-ticket symbol reveal game with a bonus play feature. The player may select between one and four tickets to play at the time of purchase. Each ticket shall be the same denomination. The player may purchase the selected number of tickets by pressing the "Play" icon. Each purchased ticket is presented in the form of a single line. The player may reveal the play and prize symbols in each purchased ticket by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player reveals a "Treasure Chest" symbol, the player wins the prize below that symbol. If the player reveals three or more "Statue" symbols, the player will play a bonus game. the player will spin a golden wheel player will win the prize displayed the circle multiplied by the prize mu the inner ring of the circle. The playe cumulative amount attained by all the spins in the bonus game. Each bonus game will win at least one prize.

(g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (i).

(h) Approximately 16,000,000 tickets shall be ordered initially for this ellistant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 tickets, and the same odds as were contained in the initial ticket order.

(i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost and by the number of tickets purchased. The expected number of prizes in this game shall be as follows:

	Ticke				
\$1.00	\$2.00	\$5.00	\$7.50	Number of Prizes in	Odds to Win
Prize Amount (multiplied by number of tickets)				Pool:	(1 in:)
\$3,000.00	\$6,000.00	\$15,000.00	\$22,500.00	1	1,000,000.00
\$1,750.00	\$3,500.00	\$8,750.00	\$13,125.00	2	500,000.00
\$1,250.00	\$2,500.00	\$6,250.00	\$9,375.00	2	500,000.00
\$850.00	\$1,700.00	\$4,250.00	\$6,375.00	3	333,333.33
\$550.00	\$1,100.00	\$2,750.00	\$4,125.00	3	333,333.33
\$450.00	\$900.00	\$2,250.00	\$3,375.00	5	200,000.00
\$300.00	\$600.00	\$1,500.00	\$2,250.00	3	333,333.33
\$200.00	\$400.00	\$1,000.00	\$1,500.00	5	200,000.00
\$175.00	\$350.00	\$875.00	\$1,312.50	5	200,000.00
\$150.00	\$300.00	\$750.00	\$1,125.00	6	166,666.67
\$120.00	\$240.00	\$600.00	\$900.00	14	71,428.57
\$110.00	\$220.00	\$550.00	\$825.00	45	22,222.22
\$100.00	\$200.00	\$500.00	\$750.00	50	20,000.00
\$80.00	\$160.00	\$400.00	\$600.00	20	50,000.00

In the bonus game,	110	
with two rings. The	100	
on the outer ring of	80	
ltiplier displayed on	65	
er will win the total	60	
e spins in the bonus	57	

\$65.00	\$130.00	\$325.00	\$487.50	40	25,000.00
\$60.00	\$120.00	\$300.00	\$450.00	33	30,303.03
\$57.00	\$114.00	\$285.00	\$427.50	40	25,000.00
\$50.00	\$100.00	\$250.00	\$375.00	70	14,285.71
\$45.00	\$90.00	\$225.00	\$337.50	60	16,666.67
\$35.00	\$70.00	\$175.00	\$262.50	70	14,285.71
\$30.00	\$60.00	\$150.00	\$225.00	80	12,500.00
\$25.00	\$50.00	\$125.00	\$187.50	110	9,090.91
\$15.00	\$30.00	\$75.00	\$112.50	3,825	261.44
\$10.00	\$20.00	\$50.00	\$75.00	15,600	64.10
\$7.00	\$14.00	\$35.00	\$52.50	27,500	36.36
\$5.00	\$10.00	\$25.00	\$37.50	31,250	32.00
\$2.00	\$4.00	\$10.00	\$15.00	70,000	14.29
\$1.00	\$2.00	\$5.00	\$7.50	90,000	11.11
\$0.50	\$1.00	\$2.50	\$3.75	60,000	16.67

(j) The odds of winning in any game shall be as follows:

Prize Multiplier	Tickets per Pool	Odds (1 in:)
3000	1	1,000,000.00
1750	2	500,000.00
1250	2	500,000.00
850	3	333,333.33
550	3	333,333.33
450	5	200,000.00
300	3	333,333.33
200	5	200,000.00
175	5	200,000.00
150	6	166,666.67
120	14	71,428.57
110	45	22,222.22
100	50	20,000.00
80	20	50,000.00
65	40	25,000.00
60	33	30,303.03
57	40	25,000.00
50	70	14,285.71
45	60	16,666.67
35	70	14,285.71
30	80	12,500.00
25	110	9,090.91
15	3,825	261.44
10	15,600	64.10
7	27,500	36.36
5	31,250	32.00
2	70,000	14.29
1	90,000	11.11
0.5	60,000	16.67

The overall odds of winning a prize in this game are approximately one in 3.35. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-23-6. "Sizzling Hot 7s" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Sizzling Hot 7s." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-6.

(b) The "play symbols" for this game are the numbers 1 through 39, excluding the number 7, expressed in a two-digit format; and the "Special 7" instant win symbol. Prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (j).

(c) For this game, six "Winning Numbers" and 20 "Your Numbers" shall appear in the game area.

200

165

161

155

150

140

130

125

120

115

110

105

101

100

95

91

85

77

76

75

70

212

2

1

2

30

2

2

6

45

2

12

2

2

970

12

12

12

12

12

40

120

(e) The price of tickets for this game shall be \$1.00, \$2.00, \$5.00, \$10.00, \$20.00, and \$30.00.

(f) "Sizzling Hot 7s" is a key number match game with an instant win feature. The player may purchase a ticket by pressing the "Play" icon. The player may reveal the play and prize symbols by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player matches any "Winning Number" to any "Your Number," the player wins the prize shown below that symbol. If the player reveals a "Special 7" symbol, the player wins the prize shown under that symbol automatically.

(g) The total number of prizes in any winning game may be variable but shall equal any prize described in paragraph (j).

(h) Approximately 60,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 10,000,000 tickets, and the same odds as were contained in the initial ticket order

			70	120	63,333.33
	ained in the initial ti		68	40	250,000.00
(i) Each prize shall be calculated by multiplying the			65	20	500,000.00
	v the ticket cost. The		61	20	500,000.00
f prizes in this ga	me shall be as follow	vs:	60	200	50,000.00
Prize Multiplier	Tickets per Pool	Odds (1 in:)	57	50	200,000.00
12000	5	2,000,000.00	55	120	83,333.33
6000	2	5,000,000.00	53	20	500,000.00
5000	2	5,000,000.00	52	20	500,000.00
4000	3	3,333,333.33	50	1,800	5,555.56
3200	1	10,000,000.00	45	120	83,333.33
3000	2	5,000,000.00	40	200	50,000.00
2700	2	10,000,000.00	38	80	125,000.00
2500	2	5,000,000.00	37	40	250,000.00
			35	120	83,333.33
2300	1	10,000,000.00	33	40	250,000.00
2200	4	2,500,000.00	31	40	250,000.00
2100	1	10,000,000.00	30	600	16,666.67
2000	10	1,000,000.00	28	40	250,000.00
1700	1	10,000,000.00	27	41	243,902.44
1500	2	5,000,000.00	25	14,500	689.66
1400	1	10,000,000.00	22	40	250,000.00
1200	3	3,333,333.33	21	80	125,000.00
1150	1	10,000,000.00	20	2,250	4,444.44
1100	2	5,000,000.00	19	50	200,000.00
1050	1	10,000,000.00	18	50	200,000.00
1000	12	833,333.33	17	50	200,000.00
950	1	10,000,000.00	15	30,400	328.95
900	1	10,000,000.00	13	100	100,000.00
800	3	3,333,333.33	12	200	50,000.00
700	2	5,000,000.00	10	97,500	102.56
600	6	1,666,666.67	9	1,000	10,000.00
550	1	10,000,000.00	8	2,400	4,166.67
500	50	200,000.00	7	2,000	5,000.00
450	1	10,000,000.00	6	6,000	1,666.67
400	12	833,333.33	5	385,000	25.97
350	6	1,666,666.67	4	8,000	1,250.00
300	6	1,666,666.67	3	414,000	24.15
250	16	625,000.00	2	870,000	11.49
235	8	1,250,000.00	1	1,380,000	7.25
225	4	2,500,000.00	1	1,000,000	7.23
218	4	2,500,000.00	(j) The odds of v	winning in any game sh	all be as follows:

(1) The odds of winning in any game shall be as follows:

(continued)

47,169.81

5,000,000.00

10,000,000.00

5,000,000.00

333,333.33

5,000,000.00

5,000,000.00

1,666,666.67

5,000,000.00

5,000,000.00

5,000,000.00

10,309.28

833,333.33

833,333.33

833,333.33

833,333.33

833,333.33

250,000.00

83,333.33

833,333.33

222,222.22

Kansas Register _

Ticket Cost

\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of Prizes	Odds to Win
		Prize	Amount			in Pool:	(1 in:)
\$12,000.00	\$24,000.00	\$60,000.00	\$120,000.00	\$240,000.00	\$360,000.00	5	2,000,000.00
\$6,000.00	\$12,000.00	\$30,000.00	\$60,000.00	\$120,000.00	\$180,000.00	2	5,000,000.00
\$5,000.00	\$10,000.00	\$25,000.00	\$50,000.00	\$100,000.00	\$150,000.00	2	5,000,000.00
\$4,000.00	\$8,000.00	\$20,000.00	\$40,000.00	\$80,000.00	\$120,000.00	3	3,333,333.33
\$3,200.00	\$6,400.00	\$16,000.00	\$32,000.00	\$64,000.00	\$96,000.00	1	10,000,000.00
\$3,000.00	\$6,000.00	\$15,000.00	\$30,000.00	\$60,000.00	\$90,000.00	2	5,000,000.00
\$2,700.00	\$5,400.00	\$13,500.00	\$27,000.00	\$54,000.00	\$81,000.00	1	10,000,000.00
\$2,500.00	\$5,000.00	\$12,500.00	\$25,000.00	\$50,000.00	\$75,000.00	2	5,000,000.00
\$2,300.00	\$4,600.00	\$11,500.00	\$23,000.00	\$46,000.00	\$69,000.00	1	10,000,000.00
\$2,200.00	\$4,400.00	\$11,000.00	\$22,000.00	\$44,000.00	\$66,000.00	4	2,500,000.00
\$2,100.00	\$4,200.00	\$10,500.00	\$21,000.00	\$42,000.00	\$63,000.00	1	10,000,000.00
\$2,000.00	\$4,000.00	\$10,000.00	\$20,000.00	\$40,000.00	\$60,000.00	10	1,000,000.00
\$1,700.00	\$3,400.00	\$8,500.00	\$17,000.00	\$34,000.00	\$51,000.00	1	10,000,000.00
\$1,500.00	\$3,000.00	\$7,500.00	\$15,000.00	\$30,000.00	\$45,000.00	2	5,000,000.00
\$1,400.00	\$2,800.00	\$7,000.00	\$14,000.00	\$28,000.00	\$42,000.00	1	10,000,000.00
\$1,200.00	\$2,400.00	\$6,000.00	\$12,000.00	\$24,000.00	\$36,000.00	3	3,333,333.33
\$1,150.00	\$2,300.00	\$5,750.00	\$11,500.00	\$23,000.00	\$34,500.00	1	10,000,000.00
\$1,100.00	\$2,200.00	\$5,500.00	\$11,000.00	\$22,000.00	\$33,000.00	2	5,000,000.00
\$1,050.00	\$2,100.00	\$5,250.00	\$10,500.00	\$21,000.00	\$31,500.00	1	10,000,000.00
\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00	\$20,000.00	\$30,000.00	12	833,333.33
\$950.00	\$1,900.00	\$4,750.00	\$9,500.00	\$19,000.00	\$28,500.00	1	10,000,000.00
\$900.00	\$1,800.00	\$4,500.00	\$9,000.00	\$18,000.00	\$27,000.00	1	10,000,000.00
\$800.00	\$1,600.00	\$4,000.00	\$8,000.00	\$16,000.00	\$24,000.00	3	3,333,333.33
\$700.00	\$1,400.00	\$3,500.00	\$7,000.00	\$14,000.00	\$21,000.00	2	5,000,000.00
\$600.00	\$1,200.00	\$3,000.00	\$6,000.00	\$12,000.00	\$18,000.00	6	1,666,666.67
\$550.00	\$1,100.00	\$2,750.00	\$5,500.00	\$11,000.00	\$16,500.00	1	10,000,000.00
\$500.00	\$1,000.00	\$2,500.00	\$5,000.00	\$10,000.00	\$15,000.00	50	200,000.00
\$450.00	\$900.00	\$2,250.00	\$4,500.00	\$9,000.00	\$13,500.00	1	10,000,000.00
\$400.00	\$800.00	\$2,000.00	\$4,000.00	\$8,000.00	\$12,000.00	12	833,333.33
\$350.00	\$700.00	\$1,750.00	\$3,500.00	\$7,000.00	\$10,500.00	6	1,666,666.67
\$300.00	\$600.00	\$1,500.00	\$3,000.00	\$6,000.00	\$9,000.00	6	1,666,666.67
\$250.00	\$500.00	\$1,250.00	\$2,500.00	\$5,000.00	\$7,500.00	16	625,000.00
\$235.00 \$225.00	\$470.00	\$1,175.00	\$2,350.00	\$4,700.00	\$7,050.00	8	1,250,000.00
\$225.00	\$450.00	\$1,125.00	\$2,250.00 \$2,180.00	\$4,500.00 \$4,360.00	\$6,750.00	4	2,500,000.00
\$218.00 \$200.00	\$436.00 \$400.00	\$1,090.00	\$2,000.00	\$4,000.00	\$6,540.00 \$6,000.00	4 212	2,500,000.00 47,169.81
\$200.00 \$165.00	\$330.00	\$1,000.00 \$825.00	\$2,000.00 \$1,650.00	\$3,300.00	\$4,950.00	212	5,000,000.00
\$161.00	\$322.00	\$805.00	\$1,610.00	\$3,220.00	\$4,830.00	1	10,000,000.00
\$155.00	\$310.00	\$775.00	\$1,550.00	\$3,100.00	\$4,650.00	2	5,000,000.00
\$150.00	\$300.00	\$750.00	\$1,500.00	\$3,000.00	\$4,500.00 \$4,500.00	30	333,333.33
\$140.00	\$280.00	\$700.00	\$1,400.00	\$2,800.00	\$4,200.00	2	5,000,000.00
\$130.00	\$260.00 \$260.00	\$650.00	\$1,300.00	\$2,600.00	\$3,900.00	2	5,000,000.00
\$125.00	\$250.00	\$625.00	\$1,250.00	\$2,500.00	\$3,750.00	6	1,666,666.67
\$120.00	\$240.00	\$600.00	\$1,200.00	\$2,400.00	\$3,600.00	45	222,222.22
\$115.00	\$230.00	\$575.00	\$1,150.00	\$2,300.00	\$3,450.00	2	5,000,000.00
\$110.00	\$220.00	\$550.00	\$1,100.00	\$2,200.00	\$3,300.00	12	833,333.33
\$105.00	\$210.00	\$525.00	\$1,050.00	\$2,100.00	\$3,150.00	2	5,000,000.00
\$101.00	\$202.00	\$505.00	\$1,010.00	\$2,020.00	\$3,030.00	2	5,000,000.00
\$100.00	\$200.00	\$500.00	\$1,000.00	\$2,000.00	\$3,000.00	970	10,309.28
\$95.00	\$190.00	\$475.00	\$950.00	\$1,900.00	\$2,850.00	12	833,333.33
\$91.00	\$182.00	\$455.00	\$910.00	\$1,820.00	\$2,730.00	12	833,333.33
\$85.00	\$170.00	\$425.00	\$850.00	\$1,700.00	\$2,550.00	12	833,333.33
\$77.00	\$154.00	\$385.00	\$770.00	\$1,540.00	\$2,310.00	12	833,333.33
\$76.00	\$152.00	\$380.00	\$760.00	\$1,520.00	\$2,280.00	12	833,333.33
\$75.00	\$150.00	\$375.00	\$750.00	\$1,500.00	\$2,250.00	40	250,000.00
\$70.00	\$140.00	\$350.00	\$700.00	\$1,400.00	\$2,100.00	120	83,333.33
\$68.00	\$136.00	\$340.00	\$680.00	\$1,360.00	\$2,040.00	40	250,000.00
\$65.00	\$130.00	\$325.00	\$650.00	\$1,300.00	\$1,950.00	20	500,000.00
\$61.00	\$122.00	\$305.00	\$610.00	\$1,220.00	\$1,830.00	20	500,000.00
\$60.00	\$120.00	\$300.00	\$600.00	\$1,200.00	\$1,800.00	200	50,000.00
\$57.00	\$114.00	\$285.00	\$570.00	\$1,140.00	\$1,710.00	50	200,000.00
							•

Ticket Cost

licket Cost							
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of Prizes	Odds to Win
		Prize	Amount			in Pool:	(1 in:)
\$52.00	\$104.00	\$260.00	\$520.00	\$1,040.00	\$1,560.00	20	500,000.00
\$50.00	\$100.00	\$250.00	\$500.00	\$1,000.00	\$1,500.00	1,800	5,555.56
\$45.00	\$90.00	\$225.00	\$450.00	\$900.00	\$1,350.00	120	83,333.33
\$40.00	\$80.00	\$200.00	\$400.00	\$800.00	\$1,200.00	200	50,000.00
\$38.00	\$76.00	\$190.00	\$380.00	\$760.00	\$1,140.00	80	125,000.00
\$37.00	\$74.00	\$185.00	\$370.00	\$740.00	\$1,110.00	40	250,000.00
\$35.00	\$70.00	\$175.00	\$350.00	\$700.00	\$1,050.00	120	83,333.33
\$33.00	\$66.00	\$165.00	\$330.00	\$660.00	\$990.00	40	250,000.00
\$31.00	\$62.00	\$155.00	\$310.00	\$620.00	\$930.00	40	250,000.00
\$30.00	\$60.00	\$150.00	\$300.00	\$600.00	\$900.00	600	16,666.67
\$28.00	\$56.00	\$140.00	\$280.00	\$560.00	\$840.00	40	250,000.00
\$27.00	\$54.00	\$135.00	\$270.00	\$540.00	\$810.00	41	243,902.44
\$25.00	\$50.00	\$125.00	\$250.00	\$500.00	\$750.00	14,500	689.66
\$22.00	\$44.00	\$110.00	\$220.00	\$440.00	\$660.00	40	250,000.00
\$21.00	\$42.00	\$105.00	\$210.00	\$420.00	\$630.00	80	125,000.00
\$20.00	\$40.00	\$100.00	\$200.00	\$400.00	\$600.00	2,250	4,444.44
\$19.00	\$38.00	\$95.00	\$190.00	\$380.00	\$570.00	50	200,000.00
\$18.00	\$36.00	\$90.00	\$180.00	\$360.00	\$540.00	50	200,000.00
\$17.00	\$34.00	\$85.00	\$170.00	\$340.00	\$510.00	50	200,000.00
\$15.00	\$30.00	\$75.00	\$150.00	\$300.00	\$450.00	30,400	328.95
\$13.00	\$26.00	\$65.00	\$130.00	\$260.00	\$390.00	100	100,000.00
\$12.00	\$24.00	\$60.00	\$120.00	\$240.00	\$360.00	200	50,000.00
\$10.00	\$20.00	\$50.00	\$100.00	\$200.00	\$300.00	97,500	102.56
\$9.00	\$18.00	\$45.00	\$90.00	\$180.00	\$270.00	1,000	10,000.00
\$8.00	\$16.00	\$40.00	\$80.00	\$160.00	\$240.00	2,400	4,166.67
\$7.00	\$14.00	\$35.00	\$70.00	\$140.00	\$210.00	2,000	5,000.00
\$6.00	\$12.00	\$30.00	\$60.00	\$120.00	\$180.00	6,000	1,666.67
\$5.00	\$10.00	\$25.00	\$50.00	\$100.00	\$150.00	385,000	25.97
\$4.00	\$8.00	\$20.00	\$40.00	\$80.00	\$120.00	8,000	1,250.00
\$3.00	\$6.00	\$15.00	\$30.00	\$60.00	\$90.00	414,000	24.15
\$2.00	\$4.00	\$10.00	\$20.00	\$40.00	\$60.00	870,000	11.49
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	1,380,000	7.25

The overall odds of winning a prize in this game are approximately one in 3.11. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-23-7. "Holiday VIP Riches" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Holiday VIP Riches." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-7.

(b) The "play symbols" for this game are as follows:

Play Symbols

Numbers from the range of 1-99 Symbol of a Bell Symbol of a Present

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (i).

(c) For this game, eight "Winning Numbers" shall appear at the top of the play area. Four play symbols shall appear in each of the ticket play areas purchased by the player. There shall be six ticket areas. Each ticket area shall be dim until the player purchases the ticket.

(d) Each pool shall consist of 1,000,000 tickets.

(e) The price of tickets for this game shall be \$1.00, \$2.00, and \$5.00.

(f) "Holiday VIP Riches" is a multi-ticket symbol reveal game with a bonus play feature. The player may select between one and six tickets to play at the time of purchase. Each ticket shall be the same denomination. The player may purchase the selected number of tickets by pressing the "Play" icon. Each purchased ticket is presented in the form of a single line. The player may reveal the play and prize symbols in each purchased ticket by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player matches any play symbol in the "Winning Numbers" area to any play symbol in any ticket play area, the player wins the prize below that number. If the player reveals the "Bell" symbol, the player wins the prize below that symbol automatically. If the player reveals one or more "Present" symbols, the player will play a bonus game. In the bonus game, the player will click on a number of "Present" symbols equal to the number of "Present" symbols revealed in the game. Each present may reveal a prize or be empty. The player will win the total cumulative amount attained in the bonus game. Each bonus game will win at least one prize.

(g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (i).

(h) Approximately 18,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 tickets, and the same odds as were contained in the initial ticket order.

(i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost and by the number of tickets purchased. The expected number of prizes in this game shall be as follows:

0				
	Ticket Cost			
\$1.00	\$2.00	\$5.00		
1	Prize Amoun	t	Number of	Odds to Win
(Multiplie	d by number	of tickets)	Prizes in Pool:	(1 in:)
\$10,000.00	\$20,000.00	\$50,000.00	1	1,000,000.00
\$3,500.00	\$7,000.00	\$17,500.00	1	1,000,000.00
\$3,250.00	\$6,500.00	\$16,250.00	2	500,000.00
\$3,000.00	\$6,000.00	\$15,000.00	2	500,000.00
\$2,500.00	\$5,000.00	\$12,500.00	2	500,000.00
\$330.00	\$660.00	\$1,650.00	15	66,666.67
\$300.00	\$600.00	\$1,500.00	15	66,666.67
\$250.00	\$500.00	\$1,250.00	25	40,000.00
\$150.00	\$300.00	\$750.00	100	10,000.00
\$125.00	\$250.00	\$625.00	60	16,666.67
\$60.00	\$120.00	\$300.00	125	8,000.00
\$50.00	\$100.00	\$250.00	99	10,101.01
\$37.00	\$74.00	\$185.00	200	5,000.00
\$35.00	\$70.00	\$175.00	300	3,333.33
\$25.00	\$50.00	\$125.00	2,000	500.00
\$16.00	\$32.00	\$80.00	1,000	1,000.00
\$13.00	\$26.00	\$65.00	250	4,000.00
\$12.00	\$24.00	\$60.00	4,500	222.22
\$10.00	\$20.00	\$50.00	5,500	181.82
\$8.00	\$16.00	\$40.00	11,000	90.91
\$7.00	\$14.00	\$35.00	14,000	71.43
\$6.00	\$12.00	\$30.00	1,000	1,000.00
\$5.00	\$10.00	\$25.00	1,500	666.67
\$4.00	\$8.00	\$20.00	23,000	43.48
\$3.00	\$6.00	\$15.00	750	1,333.33
\$2.00	\$4.00	\$10.00	22,000	45.45
\$1.50	\$3.00	\$7.50	80,000	12.50
\$1.00	\$2.00	\$5.00	125,000	8.00

(j) The odds of winning in any game shall be as follows:

v .	0,0	
Prize (Multiplier)	Tickets per Pool	Odds (1 in:)
10000	1	1,000,000.00
3500	1	1,000,000.00
3250	2	500,000.00
3000	2	500,000.00
2500	2	500,000.00
330	15	66,666.67
300	15	66,666.67
250	25	40,000.00
150	100	10,000.00
125	60	16,666.67
60	125	8,000.00
50	99	10,101.01
37	200	5,000.00
35	300	3,333.33
25	2,000	500.00
16	1,000	1,000.00
13	250	4,000.00
12	4,500	222.22
10	5,500	181.82

8	11,000	90.91
7	14,000	71.43
6	1,000	1,000.00
5	1,500	666.67
4	23,000	43.48
3	750	1,333.33
2	22,000	45.45
1.5	80,000	12.50
1	125,000	8.00

The overall odds of winning a prize in this game are approximately one in 3.42. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

111-23-8. "Jungle Crossword" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Jungle Crossword." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-8.

(b) The "play symbols" for this game are the letters A through Z and a "Bonus Butterfly" symbol.

(c) For this game, twenty "Your Letters" shall appear above an 11-by-11 grid of 121 tiles in which a variable number of vertical and horizontal words shall appear.

(d) Each pool shall consist of 1,000,000 tickets.

(e) The price of tickets for this game shall be \$1.00, \$2.00, \$5.00, \$10.00, \$20.00, and \$30.00.

(f) "Jungle Crossword" is a crossword style game with a bonus feature. The player may purchase a ticket by pressing the "Play" icon. The player may reveal the play symbols by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player uses only "Your Letters" to fully complete three or more words appearing in the 11-by-11 grid, the player wins a prize corresponding to the prize legend. Revealed words must appear in an unbroken horizontal or vertical string of letters, cannot be interrupted by a blank space, must contain every single letter in a play spot between two blank spaces, and cannot be formed from right to left or from bottom to top. If the player reveals blue letters in the "Your Letters" area and uses at least three blue letters to complete a word, the player will play a bonus game. In the bonus game, the player will uncover 21 Bonus Butterfly symbols to reveal 21 letters in one of four colors. If the player uses letters of a particular color to complete any one of four words appearing in a box of the same color, the player wins the prize shown in that box. The player will win the cumulative amount of all prizes attained in the bonus round.

(g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (j).

(h) Approximately 6,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 tickets, and the same odds as were contained in the initial ticket order.

(i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost. The expected number of prizes in this game shall be as follows:

Prize (Multiplier)	Tickets per Pool	Odds (1 in:)
5000	2	500,000.00

Kansas Register

Prize (Multiplier)

(1 in:)	Prize (Multiplier)	Tickets per Pool	Odds (1 in:)
1,000,000.00	60	140	7,142.86
333,333.33	50	100	10,000.00
500,000.00	40	400	2,500.00
333,333.33	30	500	2,000.00
1,000,000.00	25	4,500	222.22
250,000.00	20	5,000	200.00
1,000,000.00	15	2,000	500.00
500,000.00	10	12,000	83.33
55,555.56	5	5,500	181.82
166,666.67	4	35,000	28.57
16,666.67	2	37,500	26.67
20,000.00	1	150,800	6.63
4,166,67			

(j) The odds of winning in any game shall be as follows:

ize (Multiplier)	Tickets per Pool	Odds (1 in:)
3000	1	1,000,000.00
2000	3	333,333.33
1500	2	500,000.00
1000	3	333,333.33
600	1	1,000,000.00
500	4	250,000.00
300	1	1,000,000.00
250	2	500,000.00
200	18	55,555.56
175	6	166,666.67
150	60	16,666.67
125	50	20,000.00
100	240	4,166.67
75	100	10,000.00

Ticket Cost							
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of Prizes	Odds to Win
		Prize	Amount			in Pool:	(1 in:)
\$5,000.00	\$10,000.00	\$25,000.00	\$50,000.00	\$100,000.00	\$150,000.00	2	500,000.00
\$3,000.00	\$6,000.00	\$15,000.00	\$30,000.00	\$60,000.00	\$90,000.00	1	1,000,000.00
\$2,000.00	\$4,000.00	\$10,000.00	\$20,000.00	\$40,000.00	\$60,000.00	3	333,333.33
\$1,500.00	\$3,000.00	\$7,500.00	\$15,000.00	\$30,000.00	\$45,000.00	2	500,000.00
\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00	\$20,000.00	\$30,000.00	3	333,333.33
\$600.00	\$1,200.00	\$3,000.00	\$6,000.00	\$12,000.00	\$18,000.00	1	1,000,000.00
\$500.00	\$1,000.00	\$2,500.00	\$5,000.00	\$10,000.00	\$15,000.00	4	250,000.00
\$300.00	\$600.00	\$1,500.00	\$3,000.00	\$6,000.00	\$9,000.00	1	1,000,000.00
\$250.00	\$500.00	\$1,250.00	\$2,500.00	\$5,000.00	\$7,500.00	2	500,000.00
\$200.00	\$400.00	\$1,000.00	\$2,000.00	\$4,000.00	\$6,000.00	18	55,555.56
\$175.00	\$350.00	\$875.00	\$1,750.00	\$3,500.00	\$5,250.00	6	166,666.67
\$150.00	\$300.00	\$750.00	\$1,500.00	\$3,000.00	\$4,500.00	60	16,666.67
\$125.00	\$250.00	\$625.00	\$1,250.00	\$2,500.00	\$3,750.00	50	20,000.00
\$100.00	\$200.00	\$500.00	\$1,000.00	\$2,000.00	\$3,000.00	240	4,166.67
\$75.00	\$150.00	\$375.00	\$750.00	\$1,500.00	\$2,250.00	100	10,000.00
\$60.00	\$120.00	\$300.00	\$600.00	\$1,200.00	\$1,800.00	140	7,142.86
\$50.00	\$100.00	\$250.00	\$500.00	\$1,000.00	\$1,500.00	100	10,000.00
\$40.00	\$80.00	\$200.00	\$400.00	\$800.00	\$1,200.00	400	2,500.00
\$30.00	\$60.00	\$150.00	\$300.00	\$600.00	\$900.00	500	2,000.00
\$25.00	\$50.00	\$125.00	\$250.00	\$500.00	\$750.00	4,500	222.22
\$20.00	\$40.00	\$100.00	\$200.00	\$400.00	\$600.00	5,000	200.00
\$15.00	\$30.00	\$75.00	\$150.00	\$300.00	\$450.00	2,000	500.00
\$10.00	\$20.00	\$50.00	\$100.00	\$200.00	\$300.00	12,000	83.33
\$5.00	\$10.00	\$25.00	\$50.00	\$100.00	\$150.00	5,500	181.82
\$4.00	\$8.00	\$20.00	\$40.00	\$80.00	\$120.00	35,000	28.57
\$2.00	\$4.00	\$10.00	\$20.00	\$40.00	\$60.00	37,500	26.67
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	150,800	6.63

The overall odds of winning a prize in this game are approximately one in 3.94. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-18-24, Aug. 14, 2024.)

Article 301.—SPECIFIC LOTTERY FACILITY GAMES AT LOTTERY GAMING FACILITIES

111-301-4. Characteristics of the game. Blackjack shall be played with at least two decks of playing cards. If the Blazing 7's Progressive optional side wager is offered at the gaming table, then six decks of playing cards shall be used. If the King's Bounty optional side wager is offered at the gaming table, then either six or eight decks of playing cards shall be used. All decks of cards used in a game shall be identical in appearance. Each deck of playing cards shall consist of 13 value cards: 2, 3, 4, 5, 6, 7, 8, 9, 10, jack, queen, king, and ace, in each of four suits: hearts, spades, diamonds, and clubs. The value of the cards contained in each deck shall be as follows:

(a) Any card from 2 to 10 shall have its face value;

(b) Any jack, queen or king shall have a value of 10; and

(c) An ace shall have a value of 11, unless that value would give a player or the dealer a score in excess of 21, in which case it shall have a value of one. (Authorized by K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-12-24-09, Dec. 3, 2009; amended, T-111-4-9-20, Jan. 15, 2020; amended, T-111-9-18-24, Aug. 14, 2024.)

111-301-5. Wagers. (a) Prior to receiving the first card for each round of play, each player at the game of (continued)

blackjack shall make a wager against the dealer which shall win if:

(1) The score of the player is 21 or less and the score of the dealer is in excess of 21;

(2) The score of the player exceeds that of the dealer without either score exceeding 21; or

(3) The player has achieved a score of 21 in two cards and the dealer has achieved a score of 21 in more than two cards.

(b) Except as otherwise provided in these rules a wager made in accordance with this section shall be void when the score of the player is the same as the dealer; provided, however, that a player's wager shall be lost when the dealer has a blackjack, and the player has a score of 21 which is not a blackjack.

(c) Except as otherwise provided in these rules, a player shall not make, increase or withdraw any wager after the player has the first card of the round.

(d) All wagers at blackjack shall be made by placing gaming chips on the appropriate areas of the blackjack layout.

(e) After each round of play is complete, the dealer shall collect all losing wagers and pay off all winning wagers, except that if the cards in a player's hand exceed a total of 21 points, the wager for that hand shall be lost and the wager shall be collected by the dealer. All winning wagers made against the dealer in accordance with these rules shall be paid at odds of one to one with the exception of a blackjack which shall be paid at odds of three to two.

(f) Once the first card of any hand has been dealt to a player, the player shall not handle, remove or alter any wagers that have been made until a decision has been rendered and implemented with respect to that wager except as permitted by these rules.

(g) Once a wager on the insurance line, a wager to double down, or a wager to split pairs has been made and confirmed by the dealer, no player shall handle, remove or alter such wagers until a decision has been rendered and implemented with respect to that wager except as permitted by these regulations.

(h) A double down wager shall win if the total of the player's cards exceeds the total of the dealer's cards without exceeding a total of 21. A double down wager shall push or tie if the player's hand and the dealer's hand are equal. A double down wager shall lose if the total of the player's cards exceeds 21 or is less than the total of the dealer's cards. A double down wager shall be paid at the rate of one to one on both the original wager and the double down portion of the wager. A player may double down after splitting pairs.

(i) A split bet shall win if the total of the player's cards exceeds the total of the dealer's cards without exceeding a total of 21. A split bet shall lose if the total of the player's cards exceeds 21 or is less than the total of the dealer's cards. A split bet shall tie or push if the player's hand and the dealer's hand are equal. A split bet shall be paid at the rate of one to one on both the original wager and the split wager.

(j) An optional Blazing 7's Progressive side wager may be offered at gaming tables.

(1) Prior to receiving the first card for each round of

play, each player who makes a wager against the dealer may also make the progressive wager by placing gaming chips on the designated area on the blackjack layout, which wager shall also cause a light to illuminate on the gaming table to verify the wager was made. If the light fails to illuminate, the progressive wager shall be returned to the player.

(2) The dollar amount required for the Blazing 7's Progressive side wager shall be posted at the gaming table.

(3) Prior to the first card being dealt for each round of play, the dealer shall remove all progressive wagers but the light verifying the wager shall remain illuminated until the progressive wager is resolved.

(4) All Blazing 7's Progressive side wagers use only the player's first two cards and the dealer's card that is turned face up. The progressive wager shall win if either or both of the player's first two cards are 7's, or if both of the player's first two cards and the dealer's card turned face up are all 7's.

(5) After two cards have been dealt to all players at the table and the dealer, all winning Blazing 7's Progressive wagers shall be paid as follows:

Three 7's of diamonds	100% of progressive pot
Three 7's all in the same suit other than diamonds	10% of progressive pot
Three 7's of the same color but in different suits	Odds of 500 for 1
Three 7's in mixed suits and colors	Odds of 200 for 1
Two 7's in the player's hand	Odds of 25 for 1
One 7 in the player's hand	Odds of 2 for 1

Only the highest progressive prize for which a hand qualifies shall be paid. If during a round of play two or more hands qualify for any portion of the progressive pot, the applicable portion of the progressive pot shall be evenly divided between all qualifying hands and if necessary, rounded up by the lottery gaming facility manager so that all qualifying hands are paid equal amounts.

(6) The Blazing $\tilde{7}$'s Progressive prize pot shall be initially funded by the lottery gaming facility manager in the amount of \$10,000. Twenty-four percent of each progressive wager made thereafter shall be added to the progressive prize pot amount. The running total amount of the progressive prize pot shall be displayed on a meter at the gaming table and all progressive prizes shall be paid based upon the amount on the meter at the time the prize is won.

(7) After the top progressive prize is awarded, the lottery gaming facility manager shall again fund the progressive prize in the amount of \$10,000.

(k) If offered at a gaming table, a player may make an optional "21 + 3" or "TriLux" three-card wager prior to receiving the player's first card for the round of play. The minimum and maximum three-card wager will be posted at the table. An additional three-card wager may be made as a tip for the dealer. The following describes a list of the permissible wagers, payout odds, and what constitutes a win or loss for three-card wagers:

(1) A three-card wager will win only if the dealer's card turned face up and the player's original two cards combined equal a flush, straight, three-of-a-kind, or straight flush.

(2) Winning three-card wagers will be paid out as follows:

(A) When the player's original two cards and the dealer's card turned face up combined equal a flush, straight, three-of-a-kind, or a straight flush, the hand will be paid at the rate of 9 to 1.

(B) All three-card wagers will be taken or paid before the blackjack portion of the game continues.

(l) If an optional TriLux Super 3 side wager is offered at a gaming table, prior to receiving the first card for each round of play, any player making a three-card wager may also make a TriLux Super 3 wager, and if posted at the gaming table players not making a three-card wager may also make a TriLux Super 3 wager. The minimum and maximum TriLux Super 3 wager and whether the three-card wager is required in order to make the TriLux Super 3 wager will be posted at the table and/or on the gaming table layout. The following describes a list of the permissible wagers, payout odds, and what constitutes a win or loss for TriLux Super 3 wagers:

(1) An additional TriLux Super 3 wager may be made as a tip for the dealer.

(2) A TriLux Super 3 wager will win only if the dealer's card turned face up and the player's original two cards combined equal a three-of-a-kind with all three cards in the same suit, straight flush or three of a kind and not all three cards are in the same suit.

(3) Winning TriLux Super 3 wagers will be paid out as follows:

(A) When the player's original two cards and the dealer's card turned face up combined equal a three-of-akind with all three cards in the same suit, the wager will be paid at the rate of 270 to 1;

(B) When the player's original two cards and the dealer's card turned face up combined equal a straight flush, the wager will be paid at the rate of 180 to 1; and

(C) When the player's original two cards and the dealer's card turned face up combined equal a three-of-a-kind and all three cards are not in the same suit the wager will be paid at the rate of 90 to 1.

(m) If offered at a blackjack table at which at least six decks of cards are being used, a player making a blackjack wager may also make an optional royal match 21 wager in the area on the table designated for the optional wager so long as the wager is made prior to the player receiving the player's first card of the round. The amount required to make the optional royal match 21 wager shall be posted at the table.

(1) If a player makes an optional royal match 21 wager, the player may also make a royal match 21 wager as a tip for the dealer so long as the tip wager is made prior to the first card of the hand being removed from the shoe.

(2) Resolution of all royal match 21 wagers shall be made after all players and the dealer have received their second card and before the blackjack game continues.

(3) A royal match 21 wager shall win only if both of the player's two cards are in the same suit.

(4) Winning royal match 21 wagers shall be paid at odds of 2.5 to one, unless the two cards constitute a blackjack in which case the player's wager shall be paid at odds of 5 to one, or unless the two cards are a king and queen in which case the player's wager shall be paid at odds of 25 to one.

(n) If an optional King's Bounty side wager is offered

at a gaming table, prior to receiving the first card for each round of play, any player may also make a King's Bounty wager. The following describes a list of the permissible wagers, payout odds, and what constitutes a win or loss for King's Bounty wagers:

(1) An additional King's Bounty wager may be made as a tip for the dealer.

(2) A King's Bounty wager will win only if the sum of the face value of the player's first two original cards equals 20.

(3) Winning King's Bounty wagers will be paid out as follows:

(A) When the player's original two cards are two kings of spades and the dealer's hand constitutes a blackjack, the wager will be paid at the rate of 1,000 to one;

(B) When the player's original two cards are two kings of spades and the dealer's hand does not constitute a blackjack, the wager will be paid at the rate of 100 to one;

(C) When the player's original two cards are two kings in the suit of hearts, diamonds or clubs, the wager will be paid at the rate of 30 to one;

(D) When the player's original two cards are two queens, two jacks or two 10's in the same suit, the wager will be paid at the rate of 20 to one;

(E) When the player's original two cards are in the same suit but are not of the same rank, the wager will be paid at the rate of nine to one;

(F) When the player's original two cards are two kings in different suits, the wager will be paid at the rate of six to one; and

(G) When the player's original two cards are not in the same suit and are not of the same rank, the wager will be paid at the rate of four to one.

(4) Resolution of all King's Bounty wagers shall be made after all players and the dealer have received their second card and before the blackjack game continues. (Authorized by K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-12-24-09, Dec. 3, 2009; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-4-9-20, Jan. 15, 2020; amended, T-111-5-7-21, April 14, 2021; amended, T-111-9-18-24, Aug. 14, 2024.)

Article 501.—SOUTH CENTRAL GAMING ZONE

111-501-68. Dealer tip policies. (a) A player may place a bet for the dealer on any non-progressive wager of no more than 10 percent of the maximum table limit when the table maximum is bet. If the player is betting less than the table maximum, the player may bet any amount for the dealer as long as the total of both bets, player's and dealer's, does not exceed the maximum table limit. Tie bets made for the dealer combined with the player's bet may not exceed the maximum bet posted. If the player is at the maximum on the tie, the dealer can take 10 percent of the maximum bet.

(b) Winning tips may not be bet on a subsequent wager.

(c) When a player bet loses, the tip bet also loses.

(d) When paying a winning tip bet, the player's bet will always be paid first.

(e) A winning tip bet can ride at the request of the player, but the winning half must be accepted.

(f) All pushes (ties) will play again, unless the player decides otherwise.

(g) Commissions will not be charged on winning dealer tip bets.

(h) A tip bet on the tie bet for the dealer cannot exceed the table maximum.

(i) Dealer tips are placed directly in front of the player's wager. (Authorized by K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-12-22-11, Oct. 12, 2011; amended, T-111-9-18-24, Aug. 14, 2024.)

111-501-120. Dealer tip policies. (a) A player may place a bet for the dealer on any non-progressive wager of no more than 10 percent of the maximum table limit when the table maximum is bet. If the player is betting less than the table maximum, the player may bet any amount for the dealer as long as the total of both bets, player's and dealer's, does not exceed the maximum table limit. Tie bets made for the dealer combined with the player's bet may not exceed the maximum bet posted. If the player is at the maximum on the tie, the dealer can take 10 percent of the maximum bet.

100-4-2

100-5-1

100-5-2

(b) Winning tips may not be bet on a subsequent wager.

(c) When a player bet loses, the tip bet also loses.

(d) When paying a winning tip bet, the player's bet will always be paid first.

(e) A winning tip bet can ride at the request of the player, but the winning half must be accepted.

(f) All pushes (ties) will play again, unless the player decides otherwise.

(g) Commissions will not be charged on winning dealer tip bets.

(h) A tip bet on the tie bet for the dealer cannot exceed the table maximum.

(i) Dealer tips are placed directly in front of the player's wager. (Authorized by K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-10-18-12, Aug. 15, 2012; amended, T-111-9-18-24, Aug. 14, 2024.)

> Stephen W. Durrell **Executive Director** Kansas Lottery

Amended

Amended

Amended

AGENCY 111: KANSAS LOTTERY

filed by the Kansas Lottery from 1988 through

2000 can be found in the Vol. 19, No. 52, De-

cember 28, 2000 Kansas Register. A list of reg-

ulations filed from 2001 through 2003 can be

found in the Vol. 22, No. 52, December 25,

2003 Kansas Register. A list of regulations filed

from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006

through 2007 can be found in the Vol. 26, No.

52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in

the Vol. 30, No. 52, December 29, 2011 Kansas

Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No.

53, December 31, 2015 Kansas Register. A list

of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register. A list of regulations filed from 2020 through 2021, can be found in the Vol. 40, No.

52, December 30, 2021 Kansas Register. A list of

regulations filed from 2022 through 2023 can be found in the Vol. 42, No. 52, December 28,

Register

V. 43, Issue 31

V. 43, Issue 11

V. 43, Issue 5

Action

New

New

Amended

2023 Kansas Register.

Reg. No.

111-4-3547

111-4-3771

111-4-3772

A complete index listing all regulations

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations with a future effective date and the Kansas Register issue in which the regulation can be found. A complete listing and the complete text of all currently effective regulations required to be published in the Kansas Administrative *Regulations* can be found at https://www. sos.ks.gov/publications/pubs_kar.aspx.

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-15-5	Amended (T)	V. 43, Issue 42
4-15-7	Amended (T)	V. 43, Issue 42

AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

Reg. No.	Action	Register
28-16-28e	Amended	V. 43, Issue 43
28-16-28h	Amended	V. 43, Issue 43

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-11-20	Revoked	V. 43, Issue 44
92-11-21	Revoked	V. 43, Issue 44
92-12-113	Revoked	V. 43, Issue 44

AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-1-1	Amended	V. 43, Issue 43
100-2-2	Amended	V. 43, Issue 43
100-2-3	Amended	V. 43, Issue 43
100-2-4	Amended	V. 43, Issue 43
100-3-1	Revoked	V. 43, Issue 43
100-4-1	Amended	V. 43, Issue 43

Vol. 43, No. 45, November 7, 2024

100-2-2	Amended	V. 43, Issue
100-2-3	Amended	V. 43, Issue
100-2-4	Amended	V. 43, Issue
100-3-1	Revoked	V. 43, Issue
100-4-1	Amended	V. 43, Issue

© Kansas Secretary of State 2024

111-4-3773NewV. 43, Issue 12111-4-3774NewV. 43, Issue 14111-4-3775NewV. 43, Issue 29111-4-3776NewV. 43, Issue 29111-4-3777NewV. 43, Issue 29111-4-3778NewV. 43, Issue 29111-4-3780NewV. 43, Issue 29111-4-3780NewV. 43, Issue 29111-4-3781NewV. 43, Issue 29111-4-3782NewV. 43, Issue 29111-4-3783NewV. 43, Issue 29111-4-3784NewV. 43, Issue 30111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3806NewV. 43, Issue 3			
111-4-3774 New V. 43, Issue 14 111-4-3775 New V. 43, Issue 29 111-4-3776 New V. 43, Issue 29 111-4-3777 New V. 43, Issue 29 111-4-3778 New V. 43, Issue 29 111-4-3779 New V. 43, Issue 29 111-4-3778 New V. 43, Issue 29 111-4-3780 New V. 43, Issue 29 111-4-3781 New V. 43, Issue 29 111-4-3782 New V. 43, Issue 29 111-4-3783 New V. 43, Issue 30 111-4-3784 New V. 43, Issue 30 111-4-3785 New V. 43, Issue 30 111-4-3786 New V. 43, Issue 30 111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 36 111-4-3794 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798	111 / 2772	Nour	V 42 Loove 12
111-4-3775 New V. 43, Issue 29 111-4-3776 New V. 43, Issue 29 111-4-3777 New V. 43, Issue 29 111-4-3778 New V. 43, Issue 29 111-4-3779 New V. 43, Issue 29 111-4-3779 New V. 43, Issue 29 111-4-3780 New V. 43, Issue 29 111-4-3781 New V. 43, Issue 29 111-4-3782 New V. 43, Issue 29 111-4-3783 New V. 43, Issue 30 111-4-3784 New V. 43, Issue 30 111-4-3785 New V. 43, Issue 30 111-4-3786 New V. 43, Issue 30 111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 36 111-4-3794 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799			
111-4-3776NewV. 43, Issue 29111-4-3777NewV. 43, Issue 29111-4-3778NewV. 43, Issue 29111-4-3779NewV. 43, Issue 29111-4-3780NewV. 43, Issue 29111-4-3781NewV. 43, Issue 29111-4-3782NewV. 43, Issue 29111-4-3783NewV. 43, Issue 29111-4-3784NewV. 43, Issue 29111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 31111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 31111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 3			
111-4-3777 New V. 43, Issue 29 111-4-3778 New V. 43, Issue 29 111-4-3779 New V. 43, Issue 29 111-4-3780 New V. 43, Issue 29 111-4-3781 New V. 43, Issue 29 111-4-3782 New V. 43, Issue 29 111-4-3783 New V. 43, Issue 29 111-4-3784 New V. 43, Issue 30 111-4-3785 New V. 43, Issue 30 111-4-3786 New V. 43, Issue 30 111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3789 New V. 43, Issue 31 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3793 New V. 43, Issue 36 111-4-3794 New V. 43, Issue 36 111-4-3795 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799			
111-4-3778 New V. 43, Issue 29 111-4-3779 New V. 43, Issue 29 111-4-3780 New V. 43, Issue 29 111-4-3781 New V. 43, Issue 29 111-4-3782 New V. 43, Issue 29 111-4-3783 New V. 43, Issue 29 111-4-3783 New V. 43, Issue 29 111-4-3784 New V. 43, Issue 30 111-4-3785 New V. 43, Issue 30 111-4-3786 New V. 43, Issue 30 111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3794 New V. 43, Issue 36 111-4-3795 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111			V. 43, Issue 29
111-4-3779NewV. 43, Issue 29111-4-3780NewV. 43, Issue 29111-4-3781NewV. 43, Issue 29111-4-3782NewV. 43, Issue 29111-4-3783NewV. 43, Issue 29111-4-3784NewV. 43, Issue 30111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-4-3807NewV. 43, Issue 31111-4-3807NewV. 43, Issue 31111-4-3807NewV. 43, Issue 31111-19-123NewV. 43, Issue 31			
111-4-3780NewV. 43, Issue 29111-4-3781NewV. 43, Issue 29111-4-3782NewV. 43, Issue 29111-4-3783NewV. 43, Issue 29111-4-3784NewV. 43, Issue 30111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-234NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 14<			
111-4-3781 New V. 43, Issue 29 111-4-3782 New V. 43, Issue 29 111-4-3783 New V. 43, Issue 29 111-4-3784 New V. 43, Issue 30 111-4-3785 New V. 43, Issue 30 111-4-3786 New V. 43, Issue 30 111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3789 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3793 New V. 43, Issue 36 111-4-3794 New V. 43, Issue 36 111-4-3795 New V. 43, Issue 36 111-4-3796 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3801 New V. 43, Issue 36 111-4-3802			V. 43, Issue 29
111-4-3782NewV. 43, Issue 29111-4-3783NewV. 43, Issue 29111-4-3784NewV. 43, Issue 30111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 30111-4-3789NewV. 43, Issue 31111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-19-174NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue			
111-4-3783NewV. 43, Issue 29111-4-3784NewV. 43, Issue 30111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-23NemV. 43, Issue 31111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue 1			
111-4-3784NewV. 43, Issue 30111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 31111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-2AmendedV. 43, Issue 31111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue			
111-4-3785NewV. 43, Issue 30111-4-3786NewV. 43, Issue 30111-4-3787NewV. 43, Issue 30111-4-3788NewV. 43, Issue 30111-4-3789NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue			
111-4-3786 New V. 43, Issue 30 111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3789 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3793 New V. 43, Issue 36 111-4-3794 New V. 43, Issue 36 111-4-3795 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3801 New V. 43, Issue 36 111-4-3802 New V. 43, Issue 36 111-4-3803 New V. 43, Issue 36 111-4-3804 New V. 43, Issue 36 111-4-3805 New V. 43, Issue 36 111-4-3806			
111-4-3787 New V. 43, Issue 30 111-4-3788 New V. 43, Issue 30 111-4-3789 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3793 New V. 43, Issue 31 111-4-3794 New V. 43, Issue 36 111-4-3795 New V. 43, Issue 36 111-4-3796 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3801 New V. 43, Issue 36 111-4-3802 New V. 43, Issue 36 111-4-3803 New V. 43, Issue 36 111-4-3804 New V. 43, Issue 36 111-4-3805 New V. 43, Issue 36 111-4-3807 New V. 43, Issue 36 111-4-3807			V. 43, Issue 30
111-4-3788 New V. 43, Issue 30 111-4-3789 New V. 43, Issue 30 111-4-3790 New V. 43, Issue 31 111-4-3791 New V. 43, Issue 31 111-4-3792 New V. 43, Issue 31 111-4-3793 New V. 43, Issue 31 111-4-3794 New V. 43, Issue 31 111-4-3795 New V. 43, Issue 36 111-4-3796 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3800 New V. 43, Issue 36 111-4-3801 New V. 43, Issue 36 111-4-3802 New V. 43, Issue 36 111-4-3803 New V. 43, Issue 36 111-4-3804 New V. 43, Issue 36 111-4-3805 New V. 43, Issue 36 111-4-3806 New V. 43, Issue 36 111-4-3807 New V. 43, Issue 31 111-4-3807			V. 43, Issue 30
111-4-3789NewV. 43, Issue 30111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-15-4NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 14111-19-174NewV. 43, Issue 14			
111-4-3790NewV. 43, Issue 31111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 14111-19-174NewV. 43, Issue 14			
111-4-3791NewV. 43, Issue 31111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-23AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 14111-19-174NewV. 43, Issue 14			
111-4-3792NewV. 43, Issue 31111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-9-233NewV. 43, Issue 36111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3793NewV. 43, Issue 31111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-9-233NewV. 43, Issue 36111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3794NewV. 43, Issue 36111-4-3795NewV. 43, Issue 36111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 36111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3795 New V. 43, Issue 36 111-4-3796 New V. 43, Issue 36 111-4-3797 New V. 43, Issue 36 111-4-3798 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3799 New V. 43, Issue 36 111-4-3800 New V. 43, Issue 36 111-4-3801 New V. 43, Issue 36 111-4-3802 New V. 43, Issue 36 111-4-3803 New V. 43, Issue 36 111-4-3804 New V. 43, Issue 36 111-4-3805 New V. 43, Issue 36 111-4-3806 New V. 43, Issue 36 111-4-3807 New V. 43, Issue 36 111-4-3807 New V. 43, Issue 36 111-9-233 New V. 43, Issue 12 111-9-234 New V. 43, Issue 12 111-15-1 Amended V. 43, Issue 12 111-19-169 New V. 43, Issue 12 111-19-170 New V. 43, Issue 12 111-19-171			
111-4-3796NewV. 43, Issue 36111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 14111-19-174NewV. 43, Issue 14			V. 43, Issue 36
111-4-3797NewV. 43, Issue 36111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			V. 43, Issue 36
111-4-3798NewV. 43, Issue 36111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			V. 43, Issue 36
111-4-3799NewV. 43, Issue 36111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 14111-19-174NewV. 43, Issue 14			
111-4-3800NewV. 43, Issue 36111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 31111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3801NewV. 43, Issue 36111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 51111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3802NewV. 43, Issue 36111-4-3803NewV. 43, Issue 36111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 36111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3803 New V. 43, Issue 36 111-4-3804 New V. 43, Issue 36 111-4-3805 New V. 43, Issue 36 111-4-3806 New V. 43, Issue 36 111-4-3807 New V. 43, Issue 36 111-4-3807 New V. 43, Issue 36 111-9-233 New V. 43, Issue 12 111-9-234 New V. 43, Issue 12 111-15-1 Amended V. 43, Issue 31 111-15-3 Amended V. 43, Issue 12 111-18-5 Amended V. 43, Issue 12 111-19-169 New V. 43, Issue 12 111-19-170 New V. 43, Issue 12 111-19-171 New V. 43, Issue 12 111-19-172 New V. 43, Issue 12 111-19-173 New V. 43, Issue 12 111-19-174 New V. 43, Issue 14			
111-4-3804NewV. 43, Issue 36111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-15-6AmendedV. 43, Issue 5111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14			
111-4-3805NewV. 43, Issue 36111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 12111-18-5AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		New	
111-4-3806NewV. 43, Issue 36111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-18-5AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		New	V. 43, Issue 36
111-4-3807NewV. 43, Issue 36111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-18-5AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 12111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-174NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		New	
111-9-233NewV. 43, Issue 5111-9-234NewV. 43, Issue 12111-15-1AmendedV. 43, Issue 31111-15-3AmendedV. 43, Issue 31111-18-5AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		New	
111-9-234 New V. 43, Issue 12 111-15-1 Amended V. 43, Issue 31 111-15-3 Amended V. 43, Issue 31 111-15-3 Amended V. 43, Issue 12 111-18-5 Amended V. 43, Issue 12 111-19-169 New V. 43, Issue 12 111-19-170 New V. 43, Issue 12 111-19-171 New V. 43, Issue 12 111-19-172 New V. 43, Issue 12 111-19-173 New V. 43, Issue 12 111-19-174 New V. 43, Issue 14		New	
111-15-1 Amended V. 43, Issue 31 111-15-3 Amended V. 43, Issue 31 111-18-5 Amended V. 43, Issue 12 111-19-169 New V. 43, Issue 12 111-19-170 New V. 43, Issue 12 111-19-171 New V. 43, Issue 12 111-19-172 New V. 43, Issue 12 111-19-173 New V. 43, Issue 12 111-19-174 New V. 43, Issue 14	111-9-233	New	
111-15-3AmendedV. 43, Issue 31111-18-5AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14	111-9-234	New	V. 43, Issue 12
111-18-5AmendedV. 43, Issue 12111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		Amended	
111-19-169NewV. 43, Issue 5111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		Amended	
111-19-170NewV. 43, Issue 12111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14	111-18-5	Amended	V. 43, Issue 12
111-19-171NewV. 43, Issue 12111-19-172NewV. 43, Issue 12111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14	111-19-169	New	V. 43, Issue 5
111-19-172 New V. 43, Issue 12 111-19-173 New V. 43, Issue 12 111-19-174 New V. 43, Issue 14		New	
111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		New	V. 43, Issue 12
111-19-173NewV. 43, Issue 12111-19-174NewV. 43, Issue 14		New	V. 43, Issue 12
111-19-174 New V. 43, Issue 14			V. 43, Issue 12
		New	V. 43, Issue 14
,			,
			, -

Doc. No. 052642

V. 43, Issue 43

V. 43, Issue 43

V. 43, Issue 43

Index to Regulations			Kansas Register			1587		
111-19-176	New	V. 43, Issue 14	111-21-5	New	V. 43, Issue 11	112-201-6	New (T)	V. 42, Issue 44
111-19-177	New	V. 43, Issue 29	111-21-6	New	V. 43, Issue 11	112-201-7	New (T)	V. 42, Issue 44
111-19-178	New	V. 43, Issue 29	111-21-7	New	V. 43, Issue 11	112-201-8	New (T)	V. 42, Issue 44
111-19-179	New	V. 43, Issue 29	111-21-8	New	V. 43, Issue 11	112-201-9	New (T)	V. 42, Issue 44
111-19-180	New	V. 43, Issue 29	111-21-9	New	V. 43, Issue 11	112-201-10	New (T)	V. 42, Issue 44
111-19-181	New	V. 43, Issue 30	111-21-10	New	V. 43, Issue 11	112-201-11	New (T)	V. 42, Issue 44
111-19-182	New	V. 43, Issue 30	111-22-1	New	V. 43, Issue 36	112-201-12	New (T)	V. 42, Issue 44
111-19-183	New	V. 43, Issue 31	111-22-2	New	V. 43, Issue 36	112-201-13	New (T)	V. 42, Issue 44
111-19-184	New	V. 43, Issue 36	111-22-3	New	V. 43, Issue 36	112-201-14	New (T)	V. 42, Issue 44
111-20-1	New	V. 43, Issue 5	111-22-4	New	V. 43, Issue 36	112-201-15	New (T)	V. 42, Issue 44
111-20-2	New	V. 43, Issue 5	111-22-5	New	V. 43, Issue 36	112-201-16	New (T)	V. 42, Issue 44
111-20-3	New	V. 43, Issue 5	111-22-6	New	V. 43, Issue 36	112-201-17	New (T)	V. 42, Issue 44
111-20-4	New	V. 43, Issue 5	111-22-7	New	V. 43, Issue 36	112-201-18	New (T)	V. 42, Issue 44
111-20-5	New	V. 43, Issue 5	111-22-8	New	V. 43, Issue 36	112-201-19	New (T)	V. 42, Issue 44
111-20-6	New	V. 43, Issue 5	111-22-9	New	V. 43, Issue 36	112-201-20	New (T)	V. 42, Issue 44
111-20-7	New	V. 43, Issue 5	111-22-10	New	V. 43, Issue 36	112-201-21	New (T)	V. 42, Issue 44
111-20-8	New	V. 43, Issue 5	111-22-11	New	V. 43, Issue 36	112-201-22	New (T)	V. 42, Issue 44
111-20-9	New	V. 43, Issue 5	111-22-12	New	V. 43, Issue 36	112-201-23	New (T)	V. 42, Issue 44
111-20-10	New	V. 43, Issue 5	111-22-13	New	V. 43, Issue 36	112-202-1	New (T)	V. 42, Issue 44
111-20-11	New	V. 43, Issue 5	111-23-1	New	V. 43, Issue 36	112-202-2	New (T)	V. 42, Issue 44
111-20-12	New	V. 43, Issue 5	111-23-2	New	V. 43, Issue 36	112-202-2	New (T)	V. 42, Issue 44
111-20-13	New	V. 43, Issue 5	111-23-3	New	V. 43, Issue 36	112-203-2	New (T)	V. 42, Issue 44
111-20-14	New	V. 43, Issue 5	111-23-4	New	V. 43, Issue 36	112-203-2	New (T)	V. 42, Issue 44
111-20-15	New	V. 43, Issue 5	111-501-113	Amended	V. 43, Issue 11	112-203-4	New (T)	V. 42, Issue 44
111-20-16	New	V. 43, Issue 5	111-501-155	Amended	V. 43, Issue 11	112-203-4	New (T)	V. 42, Issue 44 V. 42, Issue 44
111-20-17	New	V. 43, Issue 5	111-501-161	New	V. 43, Issue 30	112-203-6	New (T)	V. 42, Issue 44 V. 42, Issue 44
111-20-18	New	V. 43, Issue 5				112-203-7	New (T)	V. 42, Issue 44 V. 42, Issue 44
111-20-19	New	V. 43, Issue 5	AGEN	CY 112: RAC	ING AND	112-203-8	New (T)	V. 42, Issue 44 V. 42, Issue 44
111-20-20	New	V. 43, Issue 5		AING COMM		112-203-8		V. 42, Issue 44 V. 42, Issue 44
111-20-21	New	V. 43, Issue 5				112-204-1	New (T) New (T)	V. 42, Issue 44 V. 42, Issue 44
111-20-22	New	V. 43, Issue 5	Reg. No.	Action	Register	112-204-2	()	· ·
111-20-23	New	V. 43, Issue 5	112-201-1	New (T)	V. 42, Issue 44		New (T)	V. 42, Issue 44
111-21-1	New	V. 43, Issue 11	112-201-2	New (T)	V. 42, Issue 44	112-204-4	New (T)	V. 42, Issue 44
111-21-2	New	V. 43, Issue 11	112-201-3	New (T)	V. 42, Issue 44	112-204-5	New (T)	V. 42, Issue 44
111-21-3	New	V. 43, Issue 11	112-201-4	New (T)	V. 42, Issue 44	112-204-6	New (T)	V. 42, Issue 44
111-21-4	New	V. 43, Issue 11	112-201-5	New (T)	V. 42, Issue 44	112-204-7	New (T)	V. 42, Issue 44

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594